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O Level Additional Mathematics Topical Revision Notes has been written in
accordance with the latest syllabus issued by the Ministry of Education, Singapore.

This book is divided into 16 units, each covering a topic as laid out in the syllabus.
Important concepts and formulae are highlighted in each unit, with relevant worked
examples to help students learn how to apply theoretical knowledge to examination
questions.

To make this book suitable for N(A) Level students, sections not applicable for
the N(A) Level examination are indicated with abar ().

We believe this book will be of great help to teachers teaching the subject and students
preparing for their O Level and N(A) Level Additional Mathematics examinations.
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Simultaneous Equations,
Polynomials and Partial

Fractions

Simultaneous Linear Equations

1. The solution(s) of a pair of linear and/or non-linear equations correspond to the
coordinates of the intersection point(s) of the graphs.

2. A pair of simultaneous linear equations is of the form

ax+by=p
cx+dy=gq,
where

a, b, ¢ and d are constants,
x and y are variables to be determined.

3. There is usually one solution to a pair of simultaneous linear equations.
4. Methods of solving simultaneous linear equations:

¢ Elimination (covered in ‘O’ level Mathematics)

e Substitution (covered in ‘O’ level Mathematics)

e Matrix method (not in syllabus)

e Graphical method (covered in ‘O’ level Mathematics)

youtube.comic/iv'leqa'Lecturei
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5. The methods most cwmﬁg@l@%urﬁe&gmar equations are

e Elimination
The coefficient of one of the variables is made the same in both equations. The
equations are then either added or subtracted to form a single linear equation
with only one variable.

Example 1
Solve the simultaneous equations
2x +3y=15
“3y+4x=3
Solutfion
2x+3y=15 — (1)
3y+4x=3 —(2)

(1) +(2):

2x+3y)+ (3y+4x) =18
6x =18
x=3

When x=3,y=3.

, . youtube.com/c/Megalecture/
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A variable is made the subject of the chosen equation. This equation is then
substituted into the equation that was not chosen to solve for the variable.

Example 2

Solve the simultaneous equations
2x -3y =-2,
y+4x=24.

Solution
2x—3y=-2 — (1)
y+4x=24 —(2)

From (1):

x=-1+ %y—(3)

Substitute (3) into (2):

y+4(—1+ %y)=24

y—4+6y=24
Ty =28
y=4

Wheny=4,x=5.

Simultaneous Non-Linear Equations
6. A non-linear equation is not of the form ax + by = p.

7. Methods of solving simultaneous non-linear equations:
. Substitution
o Graphical method (covered in ‘O’ level Mathematics)

youtube.com/ciiv‘legai_ecturei
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8. The method most COMMW M&@l@%tﬁe&pm%near equations is

e Substitution

9. The substitution method:
Step 1: Use the linear equation to express one of the variables in terms of the other.
Step 2: Substitute it into the non-linear equation.
Step 3: Substitute the value(s) obtained in Step 2 into the linear equation to obtain
the value of the other variable.

Example 3

Solve the following pair of simultaneous equations.

3y=x+3
v =13 +2x
Solution
3y=x+3 —(1)
yV'=13+2x — (2)
From (1):
y= %x +1 ——(3) (Use the linear equation to express y in terms of x.)
Substitute (3) into (2):

1 2
(§x+1) =13+ 2x

1, 2 >
§x +§x+1—13+2x

%xz— %x—lZ:O
X —12x-108 =0
x-18)(x+6)=0

x=18orx=-6

When x=18,y=7. (Substitute the values of x into the linear equation to obtain
When x =-6,y=-1. the corresponding values of y.)

Sx=18,y=7 or x=-6,y=-1

. . youtube.com/c/Megalecture/
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Example 4
Solve the simultaneous equations
X - 2y2 =-17,
x—y=-4.

Solution
X =2y=-17 — (1)

x—y=-4 —(2)
From (2),
y=x+4 —(3) (Use the linear equation to express y in terms of x.)

Substitute (3) into (1):
X —2(x+4)>=-17 (Substitute the linear equation into the non-linear
X —2x*—16x-32=-17 equation.)
x> —16x-15=0
X +16x+15=0
(x+ 1)(x+ 15)=0 (Factorise the quadratic expression.)
x=-lorx=-15

When x=-1,y=3. (Substitute the values of x into the linear equation
When x =-15,y=-11. to obtain the corresponding values of y.)

sox=-1l,y=30rx=-15,y=-11

youtube.com/ciiv‘leqai_ecturei
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Example 5

The line 2x + y = 5 meets the curve x* + y* + x + 12y — 29 = 0 at the points A and B.
Find the coordinates of A and B.

Solution
2x+y=5 — (1)
F+y +x+12y-29=0 — (2)

From (1),
y=5-2x — (3) (Use the linear equation to express y in terms.of x.)
Substitute (3) into (2):

X+G-20)"+x+12(5-2x)-29=0 (Substitute the linear equation
X 4+25-20x+4x +x+ 60 —24x —29 =0 Into the non-linear equation.)
5% —43x+56=0
(5x - 8)(x—7) =0 (Factorise the quadratic expression.)
x=1 % orx=7
When x = 1g ,y=1—=. (Substitute the values of x into the linear equation

5
to obtain the corresponding values of y.
Whenx=7,y=-9. P N y)

|

.. The coordinates of A and B are (1é ,1

4
5 —) and (7,-9).

5
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10.

11.

12.

13.

14.

A polynomial in x is a mathematical expression of a sum of terms, each of the form
ax", where a is a constant and 7 is a non-negative integer. It is usually denoted as f(x).

ie.fx)=ax"+a, X' '"+a, X'+ ... +a,xX +ax+aq,

Examples of polynomials include x* + 2x — 1, 6x* — % x> and —02x + 1% + 5x°.

2
Examples of non-polynomials include 2x” + % ,4—+xand x + x°.

a,,a, i,...,da,are coefficients.

a, is also called the constant term.

The degree (or order) of a polynomial in x is given by the highest power of x.
For example, the degree of 6x° — 2x° + x — 8 is 3 and the degree of 1 — x + 5x" is 4.

The value of f(x) at x = ¢ is f(c).
For example, if f(x) = 2x’ + x° — x — 4, then the value of f(x) at x = 1 is
f(H) =21y +1°-1-4=-2.

Identities

15.

16.

An identity is an equation in which the expression on the LHS (left-hand side) is
equal to the expression on the RHS (right-hand side).

Methods of finding the unknown constants in an identity:
* By substitution of special values of x
* By comparing coefficients

youtu be.com/cil‘v‘leqaLecture/ ’
1
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Example 6

It is given that for all values of x, 2x* + 54" = x — 2 = (Ax + 3)(x + B)(x — 1) + C.
Find the values of A, B and C.

Solution
Letx=1:21 +5(1°=1-2=(A+3)(1 +B)(1 - 1)+ C (Letting x be 1 leaves
C=4 us with 1 unknown,C.)

Let x=0:2(0)’ +50)Y-0-2=0+3)0+B)0—-1)+4 (Letting x be 0 leaves
B=2 us with 1 unknown, B.)

Comparing coefficients of x°,
A=2
LA=2,B=2and C=4

Example 7

Given that 2x* + 3x* — 14x — 5 = (2x — 3)(x + 3)Q(x) + ax + b, where Q(x) is a
polynomial, find the value of @ and of b.

Solution
Letx=-3:2(-3)° +3(-3)* = 14(-3)-5=-3a+b
10=-3a+b
3a-b=-10 — (1)

3 2
e 303 (3 )52
2253
272
3a+2b=-25 — (2)

a+b

)= (1):3b=-15

b=-5
a=-5
La=-5b=-5

. youtube.com/c/Megalecture/
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17. When 3x’ + 4x” — 6x + 3 is divided by x — 1,
o the dividend is 3x° + 4x* — 6x + 3
+ the quotient is 3x° + 7x + 1
e thedivisorisx—1
e the remainder is 4.

3xt+Tx+1 <— Quotient
Divisor —» x — 1) 3x* + 4x? — 6x + 3 <— Dividend

—(3x* = 3x%)
7x*—6x+3
—(7x* = 7x)
x+3
—(x-1)

4 <«— Remainder

18. Dividend = Quotient x Divisor + Remainder
19. The order of the remainder is always at least one degree less than that of the divisor.

20. The process of long division is stopped when the degree of the remainder is less
than the degree of the divisor.

Synthetic Method

21. The synthetic method can be used to divide a polynomial by a linear divisor.

To divide 3x* + 4x” —6x+ 3 by x — 1,

1 ‘ 3 4 -6 3 <«— Coefficients of
3 7 1 the Dividend
3 7 1 4
Coefficients of T
the Quotient  Remainder

youtu be.com/ciiv‘legaLecture/
1
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22. The Remainder Theorem states that when a polynomial f(x) is divided by ax — b,
the remainder is f (%) .

23. If f(x) is divided by a quadratic divisor, then the remainder is a linear function or a

constant.

Example 8

Find the remainder when x” — 2x” + 3x — 1 is divided by x — 1.

Solution
Let f(x) =x’ —2x" + 3x — 1.

By Remainder Theorem,

The remainder is f(1) = (1) = 2(1)* + 3(1) — 1
=1-2+3-1
=1

o TS youtube.com/c/Megalecture/
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Example 9

Given that f(x) = ax’ — 8x” — 9x + b is exactly divisible by 3x — 2 and leaves a
remainder of 6 when divided by x, find the value of @ and of b.

Solution

. 2
Since f(g) =0,

3 2
@) _8@) _9@)”,:0
8432 64p=0
27 9
8a—96-162+27b=0
8a+27b=258 — (1)
Since f(0) = 6,
a0y’ = 8(0*-9(0) +b =6
b=6—(2)
Substitute b = 6 into (1):
8a +27(6) = 258
a=12
na=12,b=6

youtube.com/c/Megalecture/ ”
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Example 10

Given that f(x) = 6x° + 7x* — x + 3, find the remainder when f(x) is divided by x + 1.

Solution

Method 1: Long division
6x% +x—2

x+1>6x3+7x2—x+3

—(6x" +6x%)
X —x+3

—(x*+x)
-2x+3
—(-2x-2)
5

.. The remainder is 5.

Method 2: Synthetic method

.. The remainder is 5.

Method 3: Remainder Theorem
fxX)=6x" +7x —x+3
f-1)=6(-1’ +7(-1)* = (-1) + 3
=5
.. The remainder is 5.

Factor.-Theorem
24. The Factor Theorem states that when a polynomial f(x) is divided by ax — b and

that f (g) =0, then ax — b is a factor of f(x).

25. Conversely, if ax — b is a factor of f(x), then f (g) =0 and f(x) is divisible by ax — b.

> . youtube.com/c/Megalecture/
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Example 11

Given that x + 2 is a factor of x* + ax® — x + 4, calculate the value of a.

Solution

Let f(x) =x" + ax* —x + 4.
Since x + 2 is a factor of f(x), by Factor Theorem,

f(-2)=0
2’ +a(-2-(-2)+4=0
8+4a+2+4=0

—2+4+4a=0
_1
)
Example 12

Prove that x + 2 is a factor of 4x’ — 13x + 6. Hence solve the equation 4x’ — 13x + 6 =0.

Solution
Let f(x) = 4x’ — 13x + 6. (To prove that x + 2 is a factor of f(x),
f(=2) = 4(=2)’ = 13(-2) +6  we need to show that f(-2) =0.)
=0

. x + 2 is a factor of 4x” = 13x + 6.
Now f(x) = 4x — 13x + 6 = (x + 2)(4x* + kx + 3), where k is a constant.
Comparing coefficients of x°,

0=8+k

k=-8
ie. f(x) = (x + 2)(4x* — 8x + 3)

=(x+2)2x-1)(2x-3)
To solve 4x’ — 13x + 6 =0,
x+2)2x-1D(2x-3)=0

_3
orx = 2

N =

Sx=-2orx=

youtube.com/ciiv‘legai_ecturei
1
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Example 13

Given that 4x’ + ax’ + bx + 2 is exactly divisible by x* — 3x + 2, find the value of a
and of b. Hence sketch the graph of y = 4x’ + ax” + bx + 2 for the values of  and
b found.

Solution
Let f(x) = 4x’ + ax” + bx + 2.
Since x* —3x+2=(x— 1)(x—2),
f(x) is exactly divisible by (x — 1)(x — 2), (Factorise the quadratic divisor.)
ie.f(1)=0and f(2) = 0.
When f(1) =0,
41+ a1 +b(1)+2=0
d+a+b+2=0
a+b=-6 — (1)
When f(2) =0,
427 + a2’ +b(2)+2=0
32+4a+2b+2=0
4a +2b=-34
2a+b=-17 — (2)
(2) = (1):
a=-11
b=5
sa=-11,b=5
fo)=4x’ — 117 +5x + 2 = (" = 3x + 2)(px + q)
Comparing coefficients of x°,
p=4
Comparing constants,
2=2q
g=1
f(r) = (" = 3x + 2)(4x + 1)
=(x-DEx-2)4x+1)

When f(x) =0,

1
x=1lorx=2orx=--. (Itis a good practice to find the intercepts with
the coordinate axes before sketching the graph.)

IV - youtube.com/c/MegaLecture/
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f(0) = 2.
3
0,2) y =1f(x)
>x
(—%,O)/ © (1,0) (2,0)

Factorisation of Cubic Expressions

26.
27.

28.

29.

A cubic expression is of the form ax’ + bx” + cx +d.

Cubic expressions are factorised into:

e 3 linear factors, i.e. (px + q)(rx + s)(tx + u), or

e 1 linear and 1 quadratic factor, i.e. (px + )(rx’ + sx + 1), where rx’ + sx + ¢ cannot
be factorised into 2 linear factors

Methods of factorising cubic expressions:
e Trial and error

e Long division

e Synthetic method

e Comparing coefficients

Sum and difference of cubes:
e Sum of cubes: @’ + b’ = (a + b)(d* — ab + b°)
o Difference of cubes: @’ — b* = (a — b)(@* + ab + b?)

Solving Cubic Equations

30.

To solve the equation f(x) =0,

Step 1: Factorise f(x) using the Factor Theorem.

Step 2: Use the synthetic method or compare coefficients to factorise f(x)
completely.

Step 3: Equate each factor to zero and use general solution where necessary.

youtube.com/ciiv‘legai_ecturei
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Example 14

Solve the equation 2x’ + x’— 5x + 2 =0.

Solution
Let f(x) = 2x° + x> — 5x + 2.
f(H=2+1-5+2
=0
.. (x—=1) is a factor of f(x).
By long division,

2x%+3x-2
x—1>2x3+ XX 5x+2

—(2x* = 2x%)
3x% -~ 5x+2
—(3x* = 3x)
2x+2
—(-2x+2)
0

f(x) = (x — 1)(2° + 3x— 2)
== DQ2x=D(x+2)
When f(x) = 0,

1
x=1lorx= ) orx=-2.

< . youtube.com/c/Megalecture/
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Example 15

In the cubic polynomial f(x), the coefficient of x” is 4 and the roots of f(x) =0
1
are 3, 2 and —4.

(i) Express f(x) as a cubic polynomial in x with integer coefficients.
(i) Find the remainder when f(x) is divided by 2x — 5.
(iii) Solve the equation f (\/;) =0.

Solution

1
(i) Since the roots of f(x) =0 are 3, 2 and —4, the factors of f(x) are x — 3,
2x—1land x +4.

Given also that the coefficient of x* is 4, f(x) = 2(x = 3)(2x = 1)(x + 4)

=4y’ 4+ 2x* = 50x + 24
3 2
(ii) f(%) - 4(%) +2 (%) - 50 (%)+ 24
=-26

.. The remainder is —26.
(i) Since f(x) = 2(x — 3)(2x — 1)(x + 4),

f(\/;) = 2<\/; - 3)(2\/; - 1)(\/; + 4) (Note that x is replaced with Jx )

When f(J}) =0,

2(& - 3)(2\/} - 1)(\/} + 4) =0

Jx=3=0 or 2Jx-1=0 or Jx +4=0

1
Jx=3 Jx = 5 Jx =-4 (no real solution)
1
x=9 x=7
1
Sx=9%o0rx= 7

youtu be.com/cil‘v‘leqaLecture/
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31.

An algebraic fraction is the ratio of two polynomials of the form

P(x)

DG’ , where P(x)

and D(x) are polynomials in x.

Proper and Improper Fractions

32. If the degree of P(x) is less than the degree of D(x), ((x)) is a proper fraction.
. P(x) .
33. If the degree of P(x) is more than or equal to the degree of D(x), ) is an

improper fraction.

34.

obtain

From an improper algebraic fraction 12((3 , we can make use of long division to
P(x) R(x) . . R(x) .
+ where Q(x) is a polynomial and is a proper
D) =Q() D)’ Q(x) is a poly D(x) 2 Prop

algebraic fraction.

35.
Step 1:

Step 2:
Step 3:
Step 4:

To express a compound algebraic fraction into partial fractions:

Determine if the compound fraction is proper or improper. If it is
improper, perform long division (or use the synthetic method if the
denominator is linear).

Ensure that the denominator is completely factorised.

Express the proper fraction in partial fractions according to the cases below.
Solve for unknown constants by substituting values of x and/or comparing
coefficients of like terms and/or using the “Cover-Up Rule”.

Rules of Partial Fractions

36. Denominator Algebraic .
Case . . Expression used

of fraction fraction
) mx +n A B

4 Linear factors (ax+b)(cx+d) ax+b * cx+d

’ Repeated linear mx+n A B C

factors (ax +b)(cx +d)’ ax+b cx+d  (cx+d)
\ Q;ad;atlc factt())r x4 A Br+C
whic cal'lnot c (ax+b)(x2 + c2) ax+b ¥4l

factorised

UNIT 1

youtube.com/c/Megalecture/
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Example 16

X . . .
Express — in partial fractions.
X+

Solution
First factorise the denominator to get the algebraic fraction in the form

¢ mx+n
0 (ax+b)cx+d)

X+x—6=(x+3)(x-2)

7-2x 7 -2x
X+x-6 (x+3)(x-2)
Then, let 7-2x A B

x+3)x-2) x+3 " x-2°
Multiply throughout by (x + 3)(x — 2),

7-2x=A(x—-2) +B(x +3)

Letx=2:7-2(2)=5B (Substituting x = 2 leaves us with 1 unknown, B.)

3
B=3
Letx=-3:7-2(-3) = A(-5) (Substituting x = -3 leaves us with 1 unknown, A.)
13
A=-3
7-2x 13 3

S ¥ ax_6 30x+3) @ 5(x-2)

youtu be.com/ciiv‘legaLecture/ "
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Example 17

x+9 . )
Express ———— in partial fractions.
X"+ 3x

Solution
x*+9
First we need to perform long division on ————.
X"+ 3x

X
X+ 3x)x* +0x*+9
—(x*+3x%)
“3x%+9
x*+9 et -3x°+9
Y1ix X +3x
-3x+9
x(x* +3)
t—3x2+9 A+Bx+C
e = — .
x(x*+3) X X +3
Multiply throughout by x(x* + 3),
BE+9=AN +3) + (Bx+0O)x
Letx=0:9=3A

=x+

A=3
Comparing coefficients of x°,
-3=A+B
=3+B
B=-6
Comparing coefficients of x,
Cc=0
x*'+9 3 6x
. =3 =x+ = - —
X"+ 3x X x"+3

- TS youtube.com/c/Megalecture/
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Example 18

2x°—2x*—24x-7

Express
X —x-12

in partial fractions.

Solution
By long division,
2x
X —x-— 12)2)63 —2x*-24x-7

—(2x* = 2x* = 24x)

-7
2x° - 2x° - 24x -7 -7
2 =20+
x T —=x-12 x —x-12
-7
=2 -
T G+
=7 A B .
Let = . g whe
e G_)x+3) x4 + 13 (Ignore the 2x when expressing
 V ol I into its partial fractions.)
(x=4)(x+3)
Multiply throughout by (x — 4)(x + 3),
-7=Ax+3)+B(x-4)

Letx=4:-7=TA

A=-1
Letx=-3:-7=-7B

B=1
L2 -2x - 24x -7 1 1
. > =2x - —2 3
x—x-12 X X+

youtu be.com/cil‘v‘leqaLecture/
1

+92 S@étgecy%@u iT??\ynomials and Partial Fractions




 Live Classes, Recorded Lectures, Notes & Past Papers Vi
www.megalecture.com

Example 19
2
Express Sx——5x2+2 in partial fractions.
Grr2)(+4)
Solution

8x*—5x+2 A Bx+C

et —— 7 7% + (Note that x* + 4 cannot be factorised
Gx+2)(x>+4) 3x+2 X7+ 4

into 2 linear factors.)

Multiply throughout by (3x + 2)(x* + 4),
8 —5x+2=A("+4)+ (Bx + O)(3x + 2)

2 80 _ 40
Letx:—g : 9 =79
A=2
Letx=0:2=4A+2C
=4(2)+2C
2C=-6
C=-3
Comparing coefficients of x°,
8=A+3B
=2+3B
3B=6
B=2
8x’ —5x+2 2 2x -3

= +
Bx+2)(x*+4) 3x+2  x*+4

5> . youtube.com/c/Megalecture/
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Example 20

Express sz in partial fractions.
(2x+3)(x—-1)

Solution

Let 9-4x A B + C

= + .
Qx+3)(x-17% 2x+3  x-1  (x-1)
Multiply throughout by (2x + 3)(x — 1)%,
9—4dx=A(x -1+ Bx—-1)2x +3) + C2x + 3)
Letx=1:5=5C

C=1
3 25
Letx=—=:15=="A
et x 5 5 1
12
A=75

Comparing coefficients of x°,

0=A+2B
0= %+ZB
=12

. 9_4x -2 6 1
x4 3)(x-172  5Qx+3)  S(x-1)  (x-1)

37. Cover-Up Rule

The “Cover-Up Rule” is a method to find the unknown numerators of partial
fractions.

Py _ A,
(ax+b)cx+d) ~ ax+b  cx+d

P L

EREFER

youtube.com/c/ iv‘leqaLecture/ -
1
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Example 21

Express =
(x+3)(x-2)

in partial fractions.

Solution
ot 3x -1 _ A + B
(x+3)(x=2)  x+3 x-=-2°

Method 1: Substitution

3x-1 A + B
(x+3)(x-2) x+3  x-2

Multiply throughout by (x + 3)(x — 2),
3x-1=A(x-2)+B(x+3)
Letx=2:5=5B (Letting x be 2 leaves us with 1 'unknown, B.)

B=1
Letx=-3:-10=-5A (Letting x be -3 leavesus with 1 unknown, A.)
A=2
3x -1 2 1

T GEd)x-2) x+3 x-2

Method 2: Cover-Up Rule

Using the Cover-Up Rule,

331 _302)=1
A= 35 adB=—"3
=2 =1

% N 2 1

T Ged)x-2) x+3 x-2

2| o youtube.com/c/MegaLecture/
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LUNIT | Quadratic Equations,
Inequalities and

Modulus Functions

Relationships between the Roots and Coefficients
of a Quadratic Equation

1. If a and f are the roots of the quadratic equation ax’ + bx + ¢ =0,

Sum of roots, o + f =——

SRARENIESY

Product of roots, aff =

ie. ¥ —(a+P)x+aBf=0

2. In general,
x> — (sum of roots)x + (product of roots) = 0

3. Some useful identities
() o +p>=(a+p)-2ap
(ii) (a-p)=(a+p)-4ap
(iii) o' - B* = (&’ + )@ + f)a—p)
(v) a*+ B = (" + B)* - 2a°B°
W o' =B =(@=-Pla+p) -apl
i) o'+ = (a + Pl(a+ )’ - 3ap]

youtube.com/c/Megalecture/
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Example 1

The roots of the quadratic equation 2x* — 5x = 4 are « and 3.
Find

(i) o +p%, (i) %+%.
Solution
From 2x° — 5x = 4, we have 2x* — 5x — 4 =0.
__5_5
a+f=-75=3
af = %1 =-2
2 2
i) o +f = (a+pP-20p @ 55+ 4 = Gk
5\ 41
(5) 22) = Z 2
_4 _4
T4 1
Example 2

Using your answers in Example 1, form a quadratic equation with integer

/3

coefficients whose roots are — and

2ﬁ

Solydiion
p 41

a
Sum of new roots, ﬁ + 2a>"16

a p 1

Product of new roots, ﬁ x 204
41 1

. . . 2 =+t L

.. New equation is x™ — ( 16)x+ 7 0

ie. 16X +41x+4=0.

- youtube.com/c/Megalecture/
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Example 3

If a and S are the roots of the equation 2x* + 5x — 12 =0, where a > 3,
find the value of each of the following.

1 1 2 2
@) ] (i) o’ +p
Solution
a+ﬂ:—§ aﬁ:%
_ 5 __ 12
) )
:_2% =6
L 1 1 _a+p
A R
1
_ 72
6
12
(i) ’+p =(a+p)—2ap
12
= (_25) —2(-6)
1
=182

youtube.com/c/Megalecture/

102 336 7801103 Ve



" Live Classes, Recorded Lectures, Notes & Past Papers Vi
Maximum and Wmﬁ%ﬁl@y@'mraﬁc

Functions

4. The quadratic function ax’ + bx + ¢ can be expressed as a(x + h) + k.

a>0 a<0
" = +h)’+k ?:
‘ y=at+h) (-h, )
y=alx+h?+k
(~h, k)
> X 7 \ > X
Minimum value = k, when x = —h Maximum value = k, when x = —h
Minimum point: (-, k) Maximum point: (-, k)

Sketching of Quadratic Graphs

5. Method of sketching a quadratic graph:
Step 1: Determine the shape of the graph from a.
Step 2: Express the function as a(x + h)* + k to get the coordinates of the maximum or
minimum point.
Step 3: Substitute x = 0 to find the y-intercept.
Step 4: Substitute y = 0 to find the x-intercept(s), if the roots are real.

s T youtube.com/c/Megalecture/
+92 336 7801123



" Live Classes, Recorded Lectures, Notes & Past Papers Vi

www.megalecture.com
Example 4

Sketch the function y = x* — 1.

Solution

Step 1: Since y = x* — 1 is a quadratic function and a is positive, the graph is
U-shaped.

Step 2: Comparing with the form a(x + k) + k, we get a = 1, which is greater than 0
so it has a minimum point.

From the function y=x"—1,h=0,k=—1. (We can express x" — |

.. Minimum point = (0, -1) as (x + 0)’ +4=1) and compare
with the form a(x.+ h) + k.)

Step 3: When x =0, f(x) =-1.

Step4: Wheny=0,x=1and-1. y
A

fo) =2 - 1

4&/1 >

youtube.com/c/Megalecture/
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6. If(x—a)x-b)>0,
then x < aorx > b.

(x—a)x-b)>0
xj& ; x>b
< O

a\\\ //b "X

-

7. If(x-a)x-b) <0,
then a < x < b.

\

\
\
\

> X

(x—a)(x-b)<0

If(x-—a)x-b) =0,
thenx <aorx=b.

x—a)x-b)=0

If(x-—a)x—-b)=<0,
thena < x < b.

\
\
\
\
\
\
\
\
\

UNIT 2

youtube.com/c/Megalecture/
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Example 5

Find the range of values of x for which 3x* — 4x + 6 < 7x.

Solution

3x° —4x + 6 < 7x (When solving quadratic inequalities, ensure that the RHS of
35— 11x+6 <0 the inequality is zero before factorising the expression on the
(Bx=2)(x-3)<0 LHS)

\

| > X
\_/3

.. Range of values of x is 3 sx=<3

Wl

Roots of a Quadratic Equation

8. The roots of a quadratic equation ax” + bx + ¢ = 0 are given by x = 72
9. b’ —4ac is called the discriminant.

10. A quadratic equation has no real roots when b” — 4ac < 0.
Given a quadratic expression ax’ — bx + ¢,

it is found that:
given that b* —4ac < 0and a > 0, ax’ - bx + ¢ > 0 for all real values of x, and

given that b* —4dac <0and a <0, ax’ — bx + ¢ < 0 for all real values of x.

youtube.com/c/Megalecture/
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Example 6

Is the quadratic expression 5x” + 4x + 1 greater than zero for all real values of x?

Solution
Discriminant = 4> — 4(5)(1)
=4

Since b* —4ac < 0 and a > 0, 5x* + 4x + 1 > 0 for all real values of x.

Example 7

Find the range of values of k for which the equation 2x* + 5x = k = 0 has no real
roots.

Solution
2+ 5x—k=0
a=2,b=5c=—k

For the equation to have no real roots,
b’ —4ac <0
5°-4(2)(-k) <0
8k < -25
25

< _ =2
k 8

» e youtube.com/c/Megalecture/
+92 336 7801123



" Live Classes, Recorded Lectures, Notes & Past Papers Vi
Conditions foWH@VME@Q@l&%WSf%PGhe and a

Quadratic Curve

11. Nature Intersection of Intersection of
b’ - 4dac of y=ax’+bx+c quadratic curve with a
roots with the x-axis straight line
>0 2realand | y=ax’+bx+ccutsthe | Line intersects the curve
distinct x-axis at 2 distinct points | at two distinct points
roots y

i

X
a>0
y
7‘ny
a<0
=0 2 real and | y =ax’ + bx + c touches | Line is a tangent to the
equal the x-axis curve

roots y

y

A
g
a>0
A
_ﬁ
a<0

s

youtube.com/c/Megalecture/
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WAAA L Maaaleectiire eom
\VA'AAA'A LB ul\.,ug.uub.u I.Il K
<0 No real y=ax"F bx + c lies Line does not intersect

roots entirely above or entirely | the curve
below the x-axis i.e.
curve is always positive
(a > 0) or always negative
(a<0)

e
| 8

| s youtube.com/c/MegaLecture/
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Example 8

Find the range of values of k given that the straight line y = x — k cuts the curve
y = kx* + 9x at two distinct points.

Solution
y=x-k — )
y=k' +9x —(2)
Substitute (1) into (2): (Substitute (1) into (2) to obtain a quadratic equationin x.)
x—k=k +9x
k' +8x+k=0

Since the straight line cuts the curve at two distinct points,

Discriminant > 0
8> — 4(k)(k)> 0
64 —4k*>0  (Remember to invert the inequality sign when dividing
K -16 <0 by anegative numben;)
(k+4)(k-4) <0

.. Range of values of kis 4 < k < 4

youtube.com/c/Megalecture/
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Example 9

Find the range of values of m for which the line y = 5 — mx does not intersect the
curve x° +y” = 16.

Solution

y=5-mx —(1)
Y+y'=16 —(2)

Substitute (1) into (2):

X+ G -mx)=16
X+ mx*— 10mx +25=16
(1+m)x* = 10mx+9=0

Since the line does not intersect the curve,
Discriminant < 0
(~10m)* = 4(1 + m*(9) <0
100m” — 36 — 36m> < 0
64m* —36 <0
16m* -9 <0
4m+3)4m-3) <0

\
\
N

| w—r

>m
N
4 4
.3 3
.. Range of values of m is -2 <m< 1

+ . youtube.com/c/Megalecture/
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12. The absolute value of a function f(x), i.e. |f(x)|, refers to the numerical value of f(x).
f(x) if f(x)=0

13. [f(x)| =

o] —f(x) if fx) < 0

14. |f(x)| = 0 for all values of x.

Example 10
Solve [4x 3| = 2x.
Solution
[ax - 3| = 2x

dx-3=2x or 4x-3=-2x
2x=13 6x=3

Example 11

Solve |2x - 3| =15.

Solution

|2x - 3| =15

2x=3=15 or 2x-3=-15
2x=18 2x=-12
x=9 x=-6

Sx=9%9o0rx=-6

youtube.com/c/Megalecture/
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Example 12

Solve [2x - 5| = |4 - 4.

Solution

|2x 5| =4 - x|

2x—-5=4-x or 2x-5=—(4-x)
3X=9 =4+ x
x=3 X =

Sox=3o0rx=1

Example 13

Solve |)c2 - 3| =2x.

Solution
|x2—3|=2x
X-3=2x or X—3=-2x
X-2x-3=0 X+2x-3=0
x=-3)x+1)=0 x+3)x-1)=0
x=3o0orx=-1 x=-3orx=1

Checking the solutions, x =3 or x = 1. (Substitute your answers into the original
equation to check for any extraneous
solutions.)

;s youtube.com/c/Megalecture/
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Example 14

Solve |2x2 - 5x| =Xx.

Solution
|2x2—5x|=x
2 —5x=x or 2% = Sx=—x
28— 6x=0 2% —dx=0
2x(x-3)=0 2x(x-2)=0
x=0orx=3 x=0orx=2

Sx=0,x=2o0rx=3

Graphs of y = [f(x)|

15. Method of sketching the graph of y = |f(x)|:
Step 1: Sketch the graph of y = f(x).
Step 2: The part of the graph below the x-axis is reflected in the x-axis.

youtube.com/c/Megalecture/
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Example 15

Sketch the graph of y = 2x.
Hence, sketch the graph of y = |2x|.

Solution
Sketch the graph y = 2x.

P youtube.com/c/MegaLecture/
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Example 16

Sketch the graph of y = |2x + 1| for the domain —1 < x < 1 and state the

corresponding range.

Solution

7 (It is necessary to find the coordinates of the
critical points.)
3T y= |2x + 1|

. Rangeis0 =y =<3

youtube.com/c/Megalecture/
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Example 17

Sketch the graph of y = |x2 —-2x- 3| for -2 =< x =< 3. State the corresponding range.

Solution

y=|x2—2x—3|

: é > X (Note that x* — 2x — 3
=(x-3)(x+1))

- RangeisO0<sy=<>5

16. If a function is defined as y = a|bx + c| +d,
(a) Ifa > 0,itis a V-shaped graph.
If a <0, itis an inverted V-shaped graph.
(b) Ifd>0,y= a|bx + c| is translated up by d units.

Ifd<0,y= a|bx + c| is translated down by |d| units.

P youtube.com/c/MegaLecture/
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Example 18

Sketch the graph of y = 2|x| - 1.

Solution
Step 1: Sketch the graph y = 2|x|.

y

»
o

49 y= 2|x|

youtube.com/c/Megalecture/
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Binomial Theorem

1. For a positive integer n,

@+by'=a"+| " |a" b+ a2 | D B
1 2 r

n! nn-1)...n(n—r+1)
where (rrl):r!(n—r)!= r!

2. Number of terms in the expansion of (a + b)" isn + 1

3. Special case:
Whena=1,

(1+b)' = 1+{"]b+[”]b2+...+("]b’+...+b"
1 2 r

. youtube.com/c/MegaLecture/
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Example 1

Find the value of k and of n given that (1 + kx)" = 1 + 48x + 1008x” + ... .

Solution

(I+k0)"=1+ ( ’11 ) (kx) + ( ’21 )(kx)2 + ... (Use the expansion of (1 + b)".)

=1 + nkx + @ Ex'+ ...
By comparing coefficients,
x: nk=48 (Compare coefficients to obtain a pair of simultaneous

=B (1) equations.)

o n(n— Dk’
X )
nn- Dk =2016 — (2)

= 1008

Substitute (1) into (2):
2304
nZ
2304n — 2304 =2016n
n=_§
k=6

n(n—1) =2016

S k=6,n=8

youtube.com/c/Megalecture/ 0
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Example 2

Write down the first 4 terms in the expansion of (1 + 2x)’ in ascending powers of x.
Hence, find the coefficient of x’ in the expansion of (1 + 2x + 3x)(1 + 2x)’.

Solution

(1+2x) =1+ 7 2x)+ 7 (2x)" + 7 Qx) + ... (Use the expansion
1 2 3 -
of (1 + BbY")
=1+ 14x + 84x" +280x" + ...

(1 +2x 4331+ 2x)" = (1 + 20+ 3 (1 + 14x + 84x° +280x° + ...)
e

o+ 280X + 168X + 42x° + ... (There is no need to obtain
o 490X + ... tetms other than x”.)

. Coefficient of x° is 490

The notation !
4. nl=nxm-1)xm-2)x..x3x2x1
5. Some useful rules:

n

° =1
0
° 'S =n
1
. n =n(n—l)
2 2!
. n| _ nn-1)(n-2)
3" 3!
o n =1
n

P youtube.com/c/Megalecture/
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Example 3

Find the value of n given that, in the expansion of (3 + 2x)", the coefficients of x*
and x’ are in the ratio 3 : 4.

Solution

G+2x)"=... +(;)3”'2(2x)2+( ’; )3"'3(2x)3 .

=... +(” )3"2(4x2)+( ’31 )3”3(8x3) + ...

2
n n-2
(2)3 @
TN . T4
n n-3
(3)3 (8)
#n—ty
3 3 3
an—Hn-2) 5 T4
e
n=_8
Example 4

Find the first 4 terms in the expansion of (1 + 2x)’ in ascending powers of x.
Use your result to estimate the value of 1.02”.

Solution
7_ 7 7 2 7 3
(1 +2x) —1+(1)(2x)+(2)(2x) +(3)(2x) .

=1+ 14x + 84x* + 280X + ...

Let (1 +2x)' =1.027, thenx=0.01.
1.027 =1+ 14(0.01) + 84(0.01)> + 280(0.01)* + ...
=1.148 68

youtube.com/c/Megalecture/
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Example 5

5
g) in ascending powers of x. Hence, deduce the expansion of

@) (1-%), (ii) (1%) +(1-§)~

Using your answers in (i) and (ii), find the exact value of 1.05° + 0.95°.

Expand (l +

Solution

{02

2 2 2 4 16 32
5 2 5 3 5 4 l 5
+|:1 2X+§X _Z +Ex Ex}

5 5
X X\ _ 5 5
Let (1+§) +(1—§) =1.05 +0.95".
By inspection,
x=0.1 5
5 1.05°+095° =2 +5(0.1) + 3 0.1
=2.050 0625

@ s youtube.com/c/Megalecture/
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Example 6

Write down the expansion of (1 + p)° in ascending powers of p. Hence, find the
first 3 terms in the expansion of (1 + 2x + 2x%)° in ascending powers of x. Use your
result to find the value of 1.002 002° correct to 6 decimal places.

Solution

6 6 6| 2, (6] 3,6 4, {6 5,[6].506
1 —
ceore (e 2

=1+6p+15p°+20p" + 15p* + 6p° + p°
By comparing (1 + p)° with (1 + 2x + 2x%)°,

p=2x+2x
(1+2x+2x)° =1+ 6(Q2x + 2x) + 15(2x + 2x°)* + ... (The first 3 terms consist of
=14 12x+ 122° + 60x* + ... the'constant, the term in x
=1+ 120+ 728 + ... and the term in x°.)
1.002 002 = 1 +2(0.001) + 2(0.001)*

Let x=0.001.

- 1.002002° =1 + 12(0.001) + 72(0.001)* + ...
=1.012072 (to 6 d.p.)

General Term

6. The (r + 1)" term is ( n )a”" .
r

youtube.com/c/Megalecture/ e
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Example 7

Find the 8" term in the expansion of (3 + x)'* in ascending powers of x.

Solution
(r + )" term = ( 1r2 )3'2"){
8" term = (7 + 1) term

_ ( 172 ) 312-7 7

=792 (3°) x’
=192 456x’

Example 8

In the expansion of (1 + x)" in ascending powers of x, the coefficient of the third
term is 21. Find the value of n.

Solution

n
In the expansion of (1 + x)", the (# + 1)" term is ( - Jx )

2_ n(n2— 1) < 2.

Hence, in the expansion of (1 + x)", the third term is ( ; )x

.. The coefficient of the third term is:
n(n-1) _
—5 = 21
nn—1)=42
n=n-42=0
n+6)(n-7)=0

n=—-6orn="7 (Since nis a positive integer, reject n = —06.)
son=T

N L youtube.com/c/Megalecture/
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7. Term independent of x refers to the constant term.

Example 9

12
Find the term independent of x in the expansion of (x2 + ;) .
Solution

Using 7,,, = " )a”"br (Recall the formula for the general term.)
r

|
e
|

24 —3r=0 (Term independent of x refers to the constant term, i.c. x".)
r=38

. Term independent of x is ( 182 ]x“ —38) = 495

Example.10

Find the term independent of x in the expansion of (2x + 3)4.

Solution
In the expansion of (2x + 3)*, the (r + 1)" term is ( 4 ) (2x)* " 3.
r
For the term independent of x,
4-r=0
r=4

.. Term independent of x is ( j ) 2x)**3*=81

youtube.com/c/Megalecture/ =
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Indices, Surds and
Logarithms

Rules of Indices

1. (@ d"xd"=d"" b) d"+d"=d""
© @'=a™ (d) a"=1,provided a #0
1 1
€ a" =— ) a" =¥a
(@ a" =4d" = (JE)“ (h) (axb)y'=d xb"

@) (%) = Z_" , provided b %0

Example 1

3
Simplify 817 x 2° + 6°.

Solution

3 3
812x2°+6=(3*)2x2°+ 6
=3'%x2°+¢
(Bx2)°+6
63
216
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Example 2
Simplify each of the following.

25x5" 2
i) 3"x15"+5" i) ——
(@ (i) I
Solution

(i) 3"x15"+5"=3"x3"x5"+5" (Recall that (¢ x b)' =d" x b")
— 3511 X 52n

25x5"%  5°x5"?
51 _gn-1 _Sn—l(s_l)
f— 5"
_4(5,171)
5

!

(5"~ is a common factor in the denominator.)

(i)

Definition of a Surd
2. A surd is an irrational root of a real number, e.g. /2 and +/3.

Operations on Surds

3. (@ Jax+a=a () Vax+/b=+Jab
(c) %=\/% (d)  ma +nJa =(m+n)a

(€ m a—nﬁ:(m—n)«/g

Example 3

Simplify /8 + /2.

Solution

NN
=J4
=2
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Example 4

Given that (a + \/5) (3 + b\/f) =8 + 5+/2, find the possible values of a and of b.

Solution
(a+ﬁ)(3+bﬁ): 3a+ab2 + 32 +2b
=3a+2b+(ab+3)V2

By comparing,
3a+2b=8 — (1) (Equate the rational terms and the irrational.terms to obtain
ab+3=5 —(2) 2equations.)

From (2),
ab=2
b= 2_ 3)
a

Substitute (3) into (1):

3a+2(g)=8
a

3 -8a+4=0
Ba-2)a-2)=0

Conjugate Surds
4. a\Jm + b[n and am — b/n are conjugate surds.
5. (a«/z + bx/ﬁ) (a\/z - b\/;) = a’m — b*n, which is a rational number.

6. The product of a pair of conjugate surds is always a rational number.

= | i youtube.com/c/Megalecture/
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Example 5

simplify (v3+3v2)(v3-342).

Solution

(V3+3v2)(V3 - 342)=(V3) - 9(v2)
=3-9(2)
=-15

Rationalising the Denominator

7. To rationalise the denominator of a surd is to make the denominator a rational

number.
w JE_VE a
Ja a a
=\/%

®) 1 XJE—«/E
Ja+b a+Jb a-b

_Na-+b

~ a->b
Example 6

32 +2

Rationalise the d inator of .
ationalise the denominator o 3243

Solution
3W2+2  3W2+2  3J2-3

3243 32+3 C3J2-3
(3v2)(3v2) + 652 - 942 -6
T
_12-32

=79

4-2
3
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Example 7

V2
Express, in the form of a + NP , where a and b are integers,

(i) the area of the rectangle in cm’,
(ii) the area of a square in cm’, given that AC is one of its sides.

The sides of rectangle ABCD are (3 + J§) cm and (5 - i) cm in length.

A B

o

b (3+\/§)cm ¢

Solution
(i) Area of rectangle ABCD = (3 + \/§)( - %)
=15- ﬁ +5/8 =44 ;thllonalltsu lh;: b )
enominator of —= .
=15 —12‘/— 5(2v2) -8 V2
= (7 + 4\/_) cm’

(i) Area of square = AC®

2
= (3 + \/g)z + (5 - %) (Apply Pythagoras’ Theorem.)

40
=9+6/8+8+25- "= +8
V2

=50+1242 2042

= (50 - 8\/5) cm?

5 T youtube.com/c/Megalecture/
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8. log,, is called the common logarithm and it is represented by Ig.

9. log, is called the natural logarithm and it is represented by In.

Laws of Logarithms

10. (a) log,x +log,y=1log, xy (b) log,x-log,y= logag
(¢) log,x =rlog,x

More Formulae on Logarithms

11. (a)
(b)
(c)
(d)
(e)

log. b o ’
log, b = log. @ (Change of Base Formula)
log,1=0
log,a=1

loga y

a*” =y (Forlog,y to be a real number, y >0)

log,a" =x

Example 8

Simplify log; 81 —logs 125 + log 55 8.

Solution

=4-3+6
=7
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12. Givena'=b,
e If b can be expressed as a power of a,e.g. b=a’,thena'=a’ = x=y.
e If b cannot be expressed as a power of a,

lgb
e take common logarithms on both sides,ie. xlga=1gb=x= é—a ,or

e take natural logarithms on both sides ifa =e,ie.xIne=Inb=x=1nb

Example 9

Solve the exponential equation 9 = 3"

Solution
9=3"
32=34x
2=4x

_1
*=2

Example 10

Solve the equation 3¢’ — 5 =2¢e”.

Solution
3¢’ -5=2¢"
36" - 5 — l = 0
ey
3’ —5¢'—2=0 (Multiply by e’
Letw=¢".
3 —5w-2=0
BGw+ 1Hw-2)=0
w= —% or w=2
e'= —% ¢’ =2 (Note thate’>0.)

(no solution) y=In2
=0.693 (to 3 s.f.)
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Step 1: Substitute u = a to get a quadratic equation pu’ + qu +r =0.
Step 2: Solve for u and deduce the value(s) of x.

Example 11
Solve the exponential equation 2**' = 6(2%) — 4.

Solution

22x+l — 6(2)c) _4
(272 =6(2) -4
Let2'=y.

2y2=6y—4

2y’ —6y+4=0

Y =3y+2=0
y-20-1)=0
y=2 or y=1
2,"(:21 2x=20
x=1 x=0

Example 12

Without using a calculator, solve the equation 9*— 2—38(3)‘) +3=0.

Solution
9* —%(3")+ 3=0
3(9H-283+9=0
3(3")°=28(3") +9=0 (Ensure that the exponential terms have the same base.)

Lety=3"
3y"-28y+9=0
By-1)(y—-9) =0 (Factorise the quadratic expression.)

1
V=3 or y=9
1 _
3_3 3*=9
x=-1 or x=2
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14. To solve logarithmic equations,

Step 1: Change the bases of the logarithmic functions to the same base.
We usually choose the smaller as the final base.

Step 2: Use one of the following methods to solve the equations.
(a) Iflog, x =log,y,then x =y and vice versa.
(b) Iflog, x=b,thenx=a’".
(¢) Use the laws of logarithms to combine the terms into the forms

described in method (a) or (b).

Example 13

Solve the equation log, 32x —log, (2x° + x — 54) = 3 log, 2.

Solution
log, 32x —log, (2x" + x — 54) =3 log, 2
32x 3
log,—2=%  =1log,2
S x4 ¢
32x _
2x% +x—54

32x = 16x> + 8x — 432
16x* —24x—432=0
2 =3x-54=0
2x+9)(x-6)=0

X = —% (rejected) or x =6 (Substitute your answers
into the original equation
to check if any solution
needs to be rejected.)

T 4 youtube.com/c/Megalecture/
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Example 14

Solve the equation log; (x +2) = 5.

Solution

log;(x+2)=5
x+2=3
x =241

Example 15

(a) Solve the equation Ig (6x +4) —1g (x—6) = 1.
(b) Find the value of x given that ¢' = 10.

Solution
(@ lg6x+4)-Ig(x-6)=1
6x+4
le x-6 !
6xx_+64 =10 (Change to the exponential form.)
6x +4 =10x - 60
4x = 64
x=16
(b) e =10
x—e=1n10 (Usedninstead of 1g because Ine =1.)
x=e+1In10

=5.02 (to 3 s.f.)
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Example 16

Solve the simultaneous equations

ex/e7=e2y ,

log, (x+2)=1+1log, y.

Solution

eer =e? — (1)

log, x+2)=1+1log,y — (2)
From (1),

From (2),
log, (x+2)
—————==1+log,y  (Apply the Change of Base Formula.)
log, 4
log, (x+2)=2+2log,y (Rearrange the logarithmic terms to one
log, (x +2) —log, y" =2 side of the equation.)
X+2
log, —5— =2
y
x+2
oo
x=4y'=2 — (4

Substitute (3) into (4):

4y —2=4y" -2
4y’ —4y=0
4y(y-=1)=0
y=0 or y=1 (Substitute your answers into the original
x=-2(rejected) x=2 equations to check if any solutions need to be
Lx=2,y=1 rejected.)
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Example 17

At the beginning of 1980, the number of mice in a colony was estimated at 50 000.

The number increased so that, after  years, the number would be 50 000 x ¢”**".

Estimate

(i) the population of the mice, correct to the nearest thousand, at the beginning of
the year 2000;

(i) the year during which the population would first exceed 100 000.

Solution

(i) At the beginning of year 2000, n = 20.
.. Population of the mice = 50 000 x e
= 136 000 (to the nearest thousand)

0.05(20)

(i) Let 50 000 x " = 100 000

e0A05n — 2

0057n=1In2
n=13.86
.. The population will exceed 100 000 in the year 1993.

Graphs of Exponential Functions
15. Graphsofy=a"

Y y
y=a',where a> 1 y=a',where0<a<1
| . 1 .
0 0

The graph of y = a* must pass through the point (0, 1) because @’ = 1.
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16. Graphs of y =log, x

y y
A A
y=log, x,
where a > 1
»x »x
0 1 0 1
y=log, x,
where 0 <a <1
Example 18
Sketch the graph of each of the following functions.
(@ y=e¢ '+1 (b) y=2e"*
() y=In(2x-3) d y=In(5-3x)
Solution
(@ y
A
y=e '+1
L +1
/
----------------------------------------- y= 1
5 > X
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A

2¢e
\y - 261 —~3x

> X

(c) y
y=1In(2x-3)

(d) y
A

\y:ln;(S—Sx)

» X

SIS
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Example 19

Sketch the graph of y = ¢ *'. By drawing a suitable straight line on the same graph,
find the number of solutions of the equation x + 1 =1n (5 — 2x).

Solution

x+1=In(5-2x)
et =5-2x
Draw y =5 —2x.

.. There is 1 solution.
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eometry

»

0]

Distance between 2 Points
1. Length of AB= J(x2 —x)+ (-

Midpoint/of 2 Points

+ +
2. Midpoint of AB= (% %)

Gradient of Line and Collinear Points

3. Gradient of AB,m = 2N N7 g
Xy =X X — X,
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\AAAAAS aalactiire o
4 noyvwLneydicoure., bUllI<O
ie.0°<6<90° i.e.90° < 6 < 180°
(line slopes upwards) (line slopes downwards)
y y
(%
0 - >
ol - 0 o
m=0 m is undefined
ie.0=0° ie.0=90°
(horizontal line) (vertical line)
y Yy
A
5 > X o1 »x

5. If A(x;,y)), B(x,, y,) and C(x;, y;) are collinear, then gradient of AB = gradient of
BC = gradient of AC and area of AABC = 0.

Parallel and Perpendicular Lines

6. Given that two lines /, and /, have gradients m, and m, respectively,
e [ is parallel to [, if m; = m,;
e [, is perpendicular to [, if mm, = —1.

7. The perpendicular bisector of a line AB is defined as a line passing through the
midpoint of AB, cutting it into two equal halves and it is also perpendicular to AB.

Perpendicular bisector

NI youtube.com/c/Megalecture/
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8.

9.

10.

Gradient form: y = mx + ¢, where m is the gradient and c is the y-intercept

X . .
Intercept form: PR S 1, where a and b are the intercepts the line makes on the

b
x-axis and y-axis respectively

General form: Ax + By + C =0, where A, B and C are constants

Example 1

Find the equation of the perpendicular bisector of AB, where A is (3, 10) and B is
(7,2).

Solution
Midpoint of AB = Shs 7 —, 10+ 2) (The perpendicular bisector of AB passes
through the midpoint of AB.)
=(5,6
Gradi f AB = 10-2
radient o =37
= -2

Gradient of perpendicular bisector = % (m,m, =-1)

Equation of perpendicular bisector:

y-—6= % (x=5) (Tousey—y, =m(x—x,), we require the gradient and the
1

2

coordinates of a point on the line.)

SIS
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Example 2

A line segment joins P(5, 7) and Q(x, y). The midpoint of the line segment is (4, 2).
Find the coordinates of Q and the equation of the perpendicular bisector of PQ.

Solution

S+x T+y|_
5+x_4 7+y=2

2 2
5+x=8 T+y=4

x=3 y=-3
- 03,-3)

7-(=3)

Gradient of PQ = 53

=5
Gradient of perpendicular bisector = —%
Equation of perpendicular bisector:
y-2 1

x—4:_§
S5y-10=-=x+4
14 1

5 5

Collinear Points
11.

A

From the diagram, three points A, B and C lie on the same line. We can say
that they are collinear.

To show that the points are collinear, determine 2 of the 3 gradients of the line
segments AB, AC and BC. The gradients must be equal, i.e. m,; = m,,

My = Mpc OF Myp= Mpc.

70 e youtube.com/c/Megalecture/
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12.

13.

14.

If A(x,, y)), B(x,,y,), C(x5,¥5), ... ,and N(x,, y,) form a polygon, then

X Xy X3 .. X, X

Y2 Y3 oo Yoo N

Area of polygon = %

1
=3 (s + X0y + o XY =Y = XY — e — X Y,)
If A(x,,y,), B(x,, y,) and C(x;, y;) form a triangle ABC, then
X Xy X3 X

M Y2 Y3 N

Area of AABC = %

Vertices must be taken in a cyclic and anticlockwise order.

Example 3

Find the area of a triangle with coordinates A(20,-1), B(30,0) and C(10,5).

y
A
(10, 5) (USF: .a diagram to v%suallse the r?lzitlve
positions of the vertices of the triangle.)
0 >x
AQ20,-1)
Solution
1 30 10 20 30
Area of triangle ABC = >
0O 5 -1 0

= %|(150 —10) — (100 — 30)

1
=3 (140 — 70)|

=35 units’

you[ube.com/C/MegaLeCIU r%éordinate Geometry 71
+92 336 7801123



" Live Classes, Recorded Lectures, Notes & Past Papers Vi

www.megalecture.com
Example 4

A triangle has vertices A(4,0), B(10, 4) and C(9, 0). Given that ABCD is a

parallelogram, find
(i) the coordinates of the point D,
(ii) the area of the parallelogram ABCD.

Solution

(Use a sketch to help you
visualise the position of D.)

(i) Let the coordinates of D be (x, y).
Midpoint of BD = Midpoint of AC (The diagonals of a parallelogram

(10 +x 4+ y) (4 +9 0 +0) bisect each other.)

2 72 2.7 2
10+x _4+9 4+y 0+0
2 .22 72
x=3 y=—4

~.D(@3,-4)

(ii) Area of parallelogram ABCD  (Remember to take the vertices in a

cyclic and anticlockwise order.)
14 39 10 4

20—4040

- %(—16+36+36—16)

=20 units’
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Example 5

A(-1,-1),B(-2,2) and C(2, 1) are three vertices of a parallelogram ABCD.
Find the midpoint of AC. Hence, find the coordinates of D.

Solution
Let the coordinates of D be (h, k).

B(-2,2)
o > x (Use a sketch to help you

ol-

)

visualise the position of D.)

A1, -1\

-1+2 -1+1
Midpoint of AC = (T+’ —2;)

X

Midpoint of AC = Midpoint of BD

R

272
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15.

Internal point of division External point of division
Let the point P divide the line AB Let the point Q divide the line AB
internally in the ratio m : n, then P is externally in the ratio m : n, then Q is
the point |+ X 1y + MYy, the point |2 ~ X My, — 1Y) |

m+n = m+n m-n ' m-n
" A
m
"B (x,,y,) ‘/M 0
n—p B (x5, 5,
A (x5 1) A (X, yp)
0 X 0 X

2| s youtube.com/c/Megalecture/
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Example 6
y
A C
A(<
P(0,2)
0(4,1)
0 NV %
B

The diagram shows a triangle ABC in which A is the point (-2, 4). The side AB
cuts the y-axis at P(0, 2). The point Q(4, 1) lies on BC and the line AQ is
perpendicular to BC. Find

(i) the equation of BC,

(ii) the coordinates of B.

Given further that Q divides BC internally in the ratio 1 : 3, find

(iii) the coordinates of C,

(iv) the area of triangle ABC.

Solution
(i) Gradientof AQ = &7
T 2-4
__1
)
Gradient of BC =2
Equation of BC: y — 1 =2(x—4) (To use y —y, = m(x — x,), we require

y=2x-7 —(1) the gradient and the coordinates of a
point on the line.)
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(ii) Gradient of AB = 5.0

=1

Equation of AB: y=—x+2 —(2) (We canusey = mx + ¢ because we know
that the y-intercept is 2.)

Solving (1) and (2), (Since B lies on AB and BC, we solve the equations of

x=3 these 2 lines simultaneously.)
y=-1
.. B(@3,-1)
(iii) C(x,y) (Use a sketch to help you visualise the
position of C.)
3
L7041

B(@3,-1)

Let the coordinates of C be (x, y).
Using Ratio Theorem,

33)+1(x) 3D +1(y)) _
( 341 7 3+1 =1
9+x _ y-3_
b=l
x=7 y=7
Cc(7,7)
(iv) Area of AABC
Wl -2 3 7 -2 (Remember to take the vertices in a cyclic
2 4 -1 7 4 and anticlockwise order.)

1
=§(2+21+28—12+7+14)

= 30 units’
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Equation of a Circle

1. Standard form
(x-a)+@-b’=r
where (a, b) is the centre and r is the radius

2.  General form
XAy +28x+2fy+c=0
where (—g, —f) is the centre and y/g” + f* — ¢ is the radius

Example 1

Find the equation of the circle with centre (1, 2) and radius of 8.

Solution
Equation of circle:
-1 +@y-27=8
x-17+(Gy-2 =064
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Example 2

A circle has centre (-1, 1) and passes through (2, 5).
(i) Find the equation of the circle.
(ii) Determine if (3, 3) lies on the circumference of the circle.

Solution

(i) Radius, r= \/(2 +1)*+(5- (To find the equation of the circle, we need

the radius and the coordinates of the ecentre.)
. Equation of circle is (x + 1)’ + (y — 1)’ =25
X +2+1+y —2y+1=25
X+y +2x-2y-23=0

(i) Substitute x=3,y=3into (x+ 1)>+ (y— 1)°
G+1)P’+3B-17=20

.. (3, 3) does not lie on the circle. (In fact, (3, 3) lies inside the circle.)

Example 3

A circle has the equation x* +y" — 10x + 6y + 9 = 0.
Find the coordinates of the centre and radius of the circle.

Solution

X +y —10x+6y+9=0
(x=5"=25+(+3’-9+9=0
x=5’+@y+3) =5

Coordinates of centre = (5, -3), radius = 5

75 TR youtube.com/c/Megalecture/
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Example 4

Find the coordinates of the centre and the radius of a circle with the equation
X+y —2x—4y+5=64.

Solution

X +y —2x—4y+5=064
X +y —2x—4y-59=0

Comparing this with x* + y* + 2gx + 2fy + ¢ =0
2g=-2 2f=—4 c=-59
g=-1 f=-2

Centre of circle (—g,—f) = (1,2)

Radius of circle = w/gz +fi-c
=JC1 + (2 +59

=38

Example 5

Find the radius and the coordinates of the centre of the circle
2X° 42y =3x+4y+1=0.

Solution
2° +2y" =3x+4y+1=0
x2+y2—%x+2y+%=0
2
3Y 9 > 1
(x—z) —E+(y+1) —1+§—0
2
3 17
( _Z) o+ =15

3
.. Radius = g, coordinates of centre = (Z ,— 1)
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Example 6

Show that the line 4y = x — 3 touches the circle x* +y* —4x — 8y + 3 =0.
Hence, find the coordinates of the point of contact.

Solution
dy=x-3 — (1)
X4y —4x-8y+3=0 — (2
From (1),
x-3
y=—— — 0O
Substitute (3) into (2):

2
K+ (";3) —4x—8(x;3)+3=0
2
X+ % —4x-2x+6+3=0
168% +x"—6x+9—64x —32x +96 + 48 =0
17— 102x + 153 =0

X—6x+9=0

Discriminant = (—6)” — 4(1)(9)
=0

.. The line is a tangent to the circle.

Solving X’ —6x+9=0,
(x-3)*=0

x=3

y=0

.. Point of contact is (3, 0)
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3. Graphs of the form y* = kx, where k is a real number

(@ k>0

4. Graphs of y = ax”

(a) nisevenanda >0
eg.y=3x

y
A

(¢) nisoddanda >0
eg.y=2x

y
A

/0 X

(b) k<0

>

V=kx, k<0

i

(b) nisevenanda <0
eg.y==3x

A

(d) nisoddanda <0
eg.y=-2x

y
A

N
N\

youtube.com/c/Megalecture/
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5. Guphsofy=ar’ WWW.Mmegalecture.com

(a) nisevenanda >0 (b) nisevenanda <0
eg.y=3x" eg.y=-3x"

A

/N

5 > T) F:x
(¢) nisoddanda >0 (d) nisoddanda <0
eg.y=3x" eg.y=-3x"
y y
A A

N &

o> T youtube.com/c/Megalecture/
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6. Graphs of y = ax"

(a) nisevenanda >0
1

eg.y=4x°

y
A

(¢) nisoddanda >0
1
eg.y=3x7

y
A

(b) nisevenanda <0
1

eg.y=—4x°

»
|

(d) nisoddanda <0
1
eg.y=-3x7

»
-

youtube.com/c/Megalecture/
+92 336 7801123 '
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7. Graphsofy=ax "

(a) nisevenanda >0 (b) nisevenanda <0

1 1
eg.y=4x 10 eg.y=—4x10

y y
A

A
\ 0 »X
»x ﬁ

(¢) nisoddanda >0 (d) nisoddanda <0
1 1
eg.y=05x"7 eg.y=-05x"7

<

\—n / -
_\0 0 /

T e youtube.com/c/MegaLecture/
+92 336 7801123
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Linear Law

(not included for NA)

The Linear Law
1.

»
-

gradient =m

P

(0]

If the variables x and y are related by the equation y = mx + ¢, then a graph of the
values of y plotted against their respective values of x is a straight line graph.

The straight line has a gradient m and it cuts the vertical axis at the point (0, c).
2. Linear Law is used to reduce non-linear functions to the linear form y = mx + c.

3. To reduce confusion, we sometimes denote the horizontal axis as X and the vertical
axisas Y,ie.Y=mX + c.

youtube.com/c/MegaLecture/ N
+92 336 7801123 .
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4. Some of the commomomg@lﬁcgycls{;gr&‘@ Bnand Y are shown in the

table.
Function X Y
1. y=ax"+b X y
1
2 y=—n+b x_n y
n " 1
3. —=ax"+b X >
y
4. y=ai/x+b Yx y
S. y=ax/;+i ieyVx =ax +b X y\/;
Jx
6. xy=%+bx ie.xX’y=bx"+a x Xy
1
or y=%+b — y
X X
7. x=bxy+ay ie. L=bx+a X x
Y y
or l=—+b 1 1
y x y
a b 1 (a)l n 1 1
8. —+—=n ie. —=|—F7|=++ - —
Xy y blx b X y
or ay + bx = nxy ie. y:(ﬁ)l_,_é A y
njx n X
-n
9. y=ax’+bx+n ie. 2 =ax+b X yx

i youtube.com/c/Megalecture/
+92 336 7801123
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Function X Y
10. y = a’x* + 2abx + b ie. y =ax+b X \/5
or [y =-ax-b x NG
11. y= a ie l=lx—2 X l
x-b y a a y
12. y=ax ie. lgy=blgx+lga lg x Igy
or Iny=blnx+Ina In x Iny

13.y=ax’+n ie. lg(y—n)=blgx+lga Ig x lg(y—n)
14.y=ab" ie. lgy=xlgb+lga X Igy

b - o[lgb)_lea 1
15. y" = 7 ie. lgy= x( ) P X gy
16.ya'=b+n ie.lgy=(-lga)x+1g (b +n) X Igy
17,y = 10>+ Moy=2x+2 x lg y
18.y =™ ie. Iny= 2,48 x Iny
. . A b

youtube.com/c/Megalecture/
+92 336 7801123
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Example 1

The variables x and y are related in such a way that when y — 3x is plotted against
x°, a straight line passing through (2, 1) and (5, 7) is obtained. Find

(i) yinterms of x,

(ii) the values of x when y = 62.

Solution

With reference to the sketch graph and using Y to represent y — 3x and X to represent x°,
-1 7-1

the equation of the straight line is X 2-5.3"

ie.Y-1=2(X-2) y—3x
Y=2X-3 i

@) y—3x=2x2—3

y=2x"+3x-3 )

(ii) When y =62,
2 +3x-3=62
2 +3x-65=0
x-52x+13)=0

)c—50rx——E
= =73 2,0

B youtube.com/c/Megalecture/
+92 336 7801123
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Example 2
It is known that x and y are related by the formula xy = a + bx, where a and b are
constants.

x 2 4 6 8 10

y 38 21.3 15.8 13.1 11.5

Express this equation in a form suitable for drawing a straight line graph. Draw this

graph for the given data and use it to estimate the value of a and of b.

Solution

Since xy = a + bx,

a
== +b.
y= b

o1 . . .
Plot y against o gradient = a, vertical-axis intercept = b.

x 2 4 6 8 10
y 38 21.3 15.8 13.1 11.5
% 0.50 0.25 0.17 0.13 0.10

youtube.com/c/Megalecture/
+92 336 7801123
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WWW.-meaalecture.com

VA AN AL va LA >t CAYAS AL

A

B
e

(05,38)

@
e

4 +4ﬂ+
/ / ++ X
AN gl | 3
(0.08, 10) i -
A
{ i
st bt |
<F lf >l
0 01 02 4(1% 1 ol 05 *
From the graph, vertical-axis intercept = 4.8
. . 38-10
Using (0.08, 10) and (0.5, 38), gradient = 05-008

=66.7 (to 3 s.f.)
5.a=667,b=438

i youtube.com/c/Megalecture/
+92 336 7801123
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The volume (V) of a container and the height of the container (x) are connected by

an equation of the form V = hk", where h and k are constants.
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X

1

2

3

4

5

\%

12.6

25.1

50.1

90.0

1995

(a) Express V = hk" in a form suitable for drawing a straight line graph.
(b) Plot this straight line graph and use it to estimate the value of /# and of .

Solution
(a) V= hk'
lgV=(gkx+l1gh
Y=mX+c

Gradient = 1g k
Y-intercept =1g h

youtube.com/c/Megalecture/
+92 336 7801123
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'
WAAAA. Maaalact: e

(b) \VA'AAAAEILREAYS Uare |4 @ | e.ccm
x 1 b 3 4 5
\%4 12.6 25.1 50.1 90.0 199.5
IgV 1.10 1.40 1.70 1.95 2.30
g /A
3
21
)
0
From the graph,
vertical-axis intercept = 0.8
Igh=0.8

h=6231(to3sf)

Using (0,0.8) and (4.4,2.1),
21-08
44-0
=0.295 (to 3 s.f.)
Ig k=0.295
k=197 (to 3 s.f.)

gradient =

o> youtube.com/c/MegaLecture/
+92 336 7801123
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UNIT Trlgonometrlc Functlons
and Equations

Basic Trigonometric Ratios

1.

A
90° -0
h
y
0 [ >
[9) X o
o sinO:% J cosec@—sull0=%
U cos0=% e secH COISH=%
. =Y . _ 1 _x
tanH—x cot 6 @nd =y
Complementary Angles
2. ¢ sin(90°-6)=cos O e ¢o0s (90°- 0) =sin O
¢ tan (90°- 0) =cot O e cot(90°-0) =tan 6
e sec (90°- 6) = cosec 6 e cosec (90° —6) =sec O
youtube. comic/iVquaLecture/
etric Functions and Equations

+92 336 7801123
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Basic Angle (oMWMLMEJAIREGHIEE.COM

3. The basic angle, a, is the acute angle between a rotating radius about the origin and
the x-axis.

y

/ﬂ\

. sin (-6) = —sin 0
4 cos (—0) =cos 0

. tan (—6) = —tan 6

Signs of Trigonometric Ratios in the Four.Quadrants

4.
A

Sine positive All positive

x=180°-a xX=a
a a >
a

x=180°+«a x=360°-«a

Tangent positive Cosine positive

o | s youtube.com/c/MegaLecture/
+92 336 7801123
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Example 1
Given that cos 6 = —% and that 180° < 6 < 270°, find the value of sin € and
tan 6.
Solution
y
A
~4 N L

6 lies in the 3" quadrant.

-4y +ad' =5
a=25-16
=9
a=-3 (Since a lies in the negative y-axis, a < 0.)
sin 0 = -3
3
tan 0 = 1T

youtube.com/c/Megalecture/ —
+92 336 7801123 !
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Example 2

Given that sec o = % and that a is an acute angle, find the value of each of the
following.

(i) sina

(i) tan (90° — )
(iii) cos (180° — a)

Solution
17 . 15

sec a = 5 ie.cosa= 7 (Recall that sec x = o8 x )

y

A

17500 o (Use Pythagoras’ Theorem to find the length
8 of the side opposite a.)
a >
15 <

o 8
(i) sina= 17

(ii) tan (90° - a) = %

(iii) cos (180° —a) =—cos a
__15
17

T s youtube.com/c/Megalecture/
+92 336 7801123
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Example 3

Given that 270° < 3 < 360° and sin 3 = —% , find the value of each of the
following without using a calculator.

(i) cospf
(i) tanf
Solution
B lies in the 4" quadrant.
y
42 + az — 52 A
a=25-16
=9
a=3 (Since a lies in the
positive x-axis, a > 0.) ﬁf\ a -
. 3 N B
(i) cosf= 3 3
i) tan ff = _%

youtube.com/c/Megalecture/
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Trigonometric M%Wsrgg%'&gy r&n%ﬁ’é@
5.
(7] sin 6 cos 0 tan 6
0° 0 1 0
300 — E l ﬁ ﬁ
6 2 2 3
45° = L Q Q 1
4 2 2
60° = = V3 1 NE)
3 2 2
JT
90° = 2 1 0 Undefined
180° = 0 -1 0
270° = 37“ 1 0 Undefined
360° = 2w 0 1 0

T s youtube.com/c/Megalecture/
+92 336 7801123
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Example 4

Find all the angles between 0° and 360° inclusive which satisfy each of the following

equations.
(i) Ssinx—6sinxcosx=0

Gi) 1+2sin (%+ 15°) =0

Solution

@ 5sin®x—6sinxcosx=0 (Do not make the mistake of dividing throughout
sinx (5§ sinx—6cosx) =0 by sin x, as you will then be short of answers.)

S5sinx—6cosx=0 sinx=0
5sinx=6cos x x=0°,180°, 360°
tan x = g (Recall that tan x = il )
5 COoS X

a =50.19° (to 2 d.p.)
x=150.2°,230.2° (to 1 d.p.)

x =0°,502°, 180°, 230,29, 360°
(i) 1+ 2 sin (%+15°) =0

. (3y o __l
sm(7+15)— 3

a =30°

2 +15°=210°, 330° (The required angles are in the 3" and

2 3 4™ quadrants.)
7y =195°, 315°

- y=130°,210°

youtube.com/c/Megalecture/ —
+92 336 7801123 !
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Graphs of TrigW&@Wﬁ&om

6. y=asinbx
e amplitude = a

o

b

e period =

7. y=acosbx

e amplitude =a 7
o
+ period= = a- y=acos bt
: : >
0 gpe 270°  360°
b b b
el N
8. y=atanbx
o eriod = 180° / ' '
p T b i y = atan bx i
| |
I I
| |
| |
I I
I I
! ! .
T H T
0 l'90 180° 1 270° / 360°

I b ™ b
I I
| |
| |
| |
I I
| |
| |
| |
I I
I I

9. To sketch the graphs of y=asin bx + cory=acos bx+cory=atan bx +c:
Step 1: Draw the graph of y = a sin bx or y = a cos bx or y = a tan bx.
Step 2: If ¢ > 0, shift the graph up by c units.

If ¢ < 0, shift the graph down by |c

0o TS youtube.com/c/Megalecture/
+92 336 7801123
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Example 5

Sketch the graph of y = 3 sin 2x — 1 in the domain 0° < x < 180°.

Solution

First, sketch y = 3 sin 2x.
It has an amplitude of 3 and period of 180°.

y=3sin2x-1

youtube.com/c/Megalecture/ —
+92 336 7801123 !
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Example 6

Sketch the graph of y = tan x| + 1 for 0° < x < 360°.

Solution

First, sketch y = |tan x|.

y 1 i
A i i

/ y=|tanx|
I 1' I %l > X
9p° L/ 180° 2"|700 ./ 360°

Next, shift the graph up by 1 unit.

Y

. s
y= |tan x| +1

15 i i
| |
| |

0 T I T I > X

90°  180° 270°  360°

0> T youtube.com/c/Megalecture/
+92 336 7801123
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Example 7

Sketch on the same diagram, for 0 < x < 2w, the graphs of

(i) y=1+4sinx,

(i) y=2cosx.

Hence, deduce the number of roots of the equation 2 cos x = 1 + 4 sin x for
0=<x=2m

Solution
y
A
5T (To draw y = 1 + 4 sin x, we first draw y.= 4 sin x, before
translating it by 1 unit upwards.)
2 y=2cosx
1 4
+ / > x
0 Fin 7T 3n /2%
2 2
27 y=1+4sinx
31

From the graph, there are 2 roots.  (The question is asking for the number of
intersection points between the graphs.)

Fundamental Identities

10.

11.

12.

13.

14.

sin cos
tan cot
sec cosec
sin @
tan 0 =
cos 0
cos 0
cot 0= —
sin 6
1
sec O =
cos 60
cosec 0 = —
sin @

youtube.com/c/Megalecture/ — -
+92 336 7801123 !
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UNIT | Trigonometric Identities
and Formulae

Fundamental Identities

siffA+cos’A=1
tan’ A + 1 =sec’ A

3. cot? A+ 1=cosec’ A

Example 1

1+sinx
sin x cos x

Prove that =tan x + cot x + sec x.

Solution

RHS = tan x + cot x + sec x

sinx cosx 1
+—+

cosx sinx  cosx

-2 2 .
sin” x + cos” x + sinx . .
= (Use the identity sin®x +cos’x=1.)

sin x cOS x
1+sin x
a = LHS (proven)
sin x cos x

youtube.com/c/MegaLecture/
+92 336 7801123
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Example 2

1 1

_ 2
T+cos® 1—cos® =2 cosec 0.

Show that

Solution

_ 1 N 1
1+cos@ 1-cosf

_ I—cos@+1+cos0

B 1—cos* 0

(Use the identity sin @ +cos’@=1.)

LHS

sin’ 6

1
=2 cosec” @ = RHS (proven) (Recall that cosec € = D)

Example 3

Prove that sec* 6 — sec’ 0 = tan® 0 + tan® 6.

Solution

LHS =sec’ 0 —sec’ 6

sec” 0 (sec> 0 —1)

(1 + tan’ )(tan” 8) . (Use the identity tan’ 6 + 1 = sec’ 6.)
=tan’ @ + tan* @ = RHS (proven)

yOUIUbe ) Com/CiiV.IegariLoeogettlr%rl-dee!tities and Formulae
+92 336 7801123
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Example 4

Find all the angles between 0° and 360° inclusive which satisfy the equation
3tan’y+5=7secy.

Solution

3tan’ y+5="7secy
3(sec’y—1)+S5=T7secy (Usetan’y+ 1 =sec’y to obtain a

3sec’y—Tsecy+2=0 quadratic equation in sec y.)
(3secy—1)secy—-2)=0
3secy—1=0 or secy—-2=0
1
secy =3 secy=2
. 1
cos y = 3 (no solution) cosy=z
a = 60°
..y =60°,300°

Compound Angle Formulae
4. sin(AxB)=sinAcosB+cosAsinB

5. cos(A+B)=cosAcosBFsinAsinB

tan A = tan B

6. tn(A£B)= T =B

oc TR youtube.com/c/Megalecture/
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Example 5

Find all the angles between 0° and 360° which satisfy the equation
5 sin (x + 60°) = cos (x — 30°).

Solution

5 sin (x + 60°) = cos (x — 30°)
5[sin x cos 60° + cos x sin 60°] = cos x cos 30° + sin x sin 30°

1 NE V3

. 1.
5[§smx+Tcosx}—TCosx+§smx
5 sin x + 5v/3 cos x =+/3 cos x + sin x
4 sin x =43 cos x
tan x = —/3 (Recall that tan x =
a = 60°

sin x
CoS X

- x = 120°,300° (¢ lies in the 2" and 4" quadrants.)

Special Identities

7. sin (6 + 2nm) = sin 6, where n is an integer
8. cos (0 + 2nm) = cos O, where n is an integer
9. tan (0 + 2nm) = tan 6, where n is an integer
10. sin (90° + ) = cos O

11. cos (90° = 0) =Fsin 0

12. tan (90° = 6) = Fcot O

13. sin (180° + 6) = Fsin 0

14. cos (180° = 0) = —os 6

15. tan (180° = ) = = tan O

yOUIUbe ) Com/CiiV.Ieg%Loeog(}tlr%rl-deer{'tmes and Formulae
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Double Angle VWY megalecture.com

16. sin2A=2sinAcos A

17. cos 2A = cos® A —sin® A
=2cos’A-1
=1-2sin"A

18. tn24= 210A
1-tan" A

Example 6

Given that tan 6 = —% and 270° < 6 < 360°, find the value of
(i) cos (-0),

(i) cos (90° -6),

(iii) sin (180° + ),

(iv) sin 26.
Solution
(i) cos (-0)=cos O
3 y
=3 A
(i) cos (90° — 0) =sin O
__4 91N\ 3 .
5 Q o
(iii) sin (180° + ) = —sin O -4
4 5
~5

(iv) sin 20 = 2 sin 6 cos 0

SEr

X
25

0s TR youtube.com/c/Megalecture/
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Example 7

Given that cos 2x = % and 270° < 2x < 360°, find the value of

(i) cosux,
(ii) sin x.

Solution
(i) Since 270° =< 2x =< 360°, then 135° < x < 180°.
~. x lies in the 2" quadrant.

pee 127
T
s 127
2cos"x—1= 62
289
2 —_——
2cos x= 162
2%
cos’x= 357
e
€Os x =4[ 257
17
=+ —
|
L. COSX = —1—8 (cosx < 0 since x lies in the 2™ quadrant.)
(i)
y
A
18
V35
X
o\,
-17
sin x = ¥33
T8

yOUIu be ) Com/CiiV.Ieg%Loeog(}tlri?I:rl-deer{'tities and Formulae
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Half Angle FornA{(\14é megalecture.com

Replace A with % in the Double Angle Formulae.

. . A A
19. sin A =2sin 5 cos 5

20. cos A = cos’ g sin’ %

=200$2%—1

.
— — 2 p—
=1-2sin 5

2 tané

21. tan A= 2

A
2
1 tan2

R-Formulae
22. asin@+bcosf=Rsin (0 +a)
23. asin@ —bcos @=Rsin (0 —a)

whereR:,/az+b2 and tan o = b
24. acosO+bsinO=Rcos(0-a) a
25. acosO—-bsinO=Rcos (0+a)

26. For the expression a sin 8 = b cos 6 or a cos 6 + b sin 6,
e Maximum value = R
e  Minimum value = —-R

youtube.com/c/Megalecture/
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Example 8

Using the R-formula, find the maximum and minimum values of 6 sin x — 5 cos x
for values of x, where 0° < x < 360°.

Solution

6 sinx—5cos x =R sin (x — a)

R=./6"+5% =61

—tan (2
o =tan (6)

=39.8°
- 6sinx—35 cos x =61 sin (x — 39.8°)

Minimum value = —/61 (when sin (x —39.8°) =-1)
Maximum value =+/61  (when sin (x —39.8%) = 1)

Example 9

Solve 3 sin 2x + 2 sin x = 0 for 0° =< x < 360°.

Solution

3sin2x+2sinx=0

3(2sinxcosx)+2sinx=0

3sinxcosx+sinx=0

sinx(3cosx+1)=0
sinx=0 or 3cosx+1=0

x=0°, 180°,360° cosx:_%
a=7053°
x=109.5°,250.5° (The required angles are in the 2" and 4" quadrants.)

yOUIUbe ) Com/CiiV.IegariLoeogettlr%rl-dee!tities and Formulae
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Example 10

By expressing 4 cos x — 3 sin x in the form R cos (x + &), where R > 0 and 0 < o < % ,

(i) obtain the maximum value of 4 cos x — 3 sin x + 5 and the corresponding value
of x,

(ii) solve the equation 4 cos x — 3 sin x = 2.5 for values of x between 0 and 27
inclusive.

Solution

4cosx—3sinx=Rcos (x+a)
R=4*+3 =5
tan a = 3
T4
a =0.6435 (to 4 s.f.)

o4 cosx—3sinx=5cos (x +0.644)

(i) Maximum value=5+5 (Maximum value of 4 cos x — 3 sin x is 5)
=10

Maximum value occurs when cos (x + 0.6435) =1,
ie.x+0.6435=2n
x=5.64(to 3s.f)

(ii) 4cosx—-3sinx=2.5
5 cos (x + 0.6435) =2.5  (Use the expression obtained earlier to solve the
cos (x +0.6435) =0.5 equation.)
.
3
x+0.6435=1.047,5235 (to4 s.f.) (x+0.6435 lies in the 1" and

x=0404,4.59 (to 3 s.f.) 4™ quadrants.)

youtube.com/c/Megalecture/
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UNIT | Proofsin

Plane Geometry

(not included for NA)

Useful Properties and Concepts that are learntiin
O Level Mathematics

1. Angle Properties

(a) Alternate angles between parallel lines are equal

/Od )
R > 4 >Ab s

Since PQ// RS, Za=/dand /b= /c

(b) Corresponding angles between parallel lines are equal

R > ary/ s

Since PO //' RS, Za=/cand /b= /d

(c)  Interior angles between parallel lines are supplementary

//Qd )
R > b s

Since PQ // RS, Za+ Zc=180° and £b + £d = 180°

youtube.com/c/Megalecture/
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2. Properties of CongWimgaleCtu re.com

e Corresponding sides are equal in length.
e Corresponding angles are equal.

3. Congruence Tests for Triangles

@i SSS
AB=XY,AC=XZand BC=YZ

X
4 B
W Y
¢ Z
(ii) SAS

AB=XY,AC=XZand LA= /X

X
A B
:} '
¢ V4
(iii) AAS or ASA

AB=XY,/A=/Xand LB=/.Y

X
AWB
Y
¢ V4
(iv) RHS

Only applicable for right-angled triangles.
BC=YZ,AB=XYand £LC=/Z=90°

A Z
C B X
youtube.com/c/Megalecture/
+92 336 7801123
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4. Propertles0fSlmem§galeCture com 4

All corresponding angles are equal.

All corresponding sides are proportional in length.

AE _AB _ EB

AD ~ AC ~ DC E B

Area of AAEB (AE)2

Area of AADC _\AD

5. Similarity Tests for Triangles

(i) AA

/A=/Xand /LB=/,Y

B

I\,

(ii) SSS
AB _BC _ AC
XY YZ XZ
(iii) SAS
AB _BC \d/B=sY
XY YZ

X
: |
Zz
X
B
Y
A C
Z
X
B
Y
C

youtuoe COfﬂ/C/lVng&LGCIL!)H?l . . 15
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6. Circles www.megalecture.com

(a) £ at centre =2/ at circumference
An angle at the centre is twice any angle at the circumference subtended by
the same arc,ie. La=2/b.

/ ’
(b) Rt. Z in a semicircle

Every angle at the circumference subtended by the diameter of a circle is a
right angle,i.e. Za = 90°.

<

(¢) Zs in the same segment
Angles in the same segment of a circle are equal, i.e. Za= 2b.
O

T D
If AB=BC, then LADB = £BDC.
b
<)
< ;
B

(d) Zsin opp. segments are supplementary
In a cyclic quadrilateral, the opposite angles are supplementary,
ie. Za+ £c=180°and £b+ £d=180°.

\./‘

youtube.com/c/Megalecture/
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(e)

(®)

(g

(h)

1 bisector of a chWXMsJJ!ﬂQ@l%tHEQ &leircle

A straight line drawn from the centre to bisect a chord is perpendicular to the
chord,ie. OC L AB < AC =BC.

Equal chords are equidistant from the centre
Chords which are equidistant from the centre are equal, i.e. AB = DE < OC = OF.
(AOAB = AODE)

Tangent L radius

A tangent to a circle is perpendicular to the radius
drawn to the point of contact,

ie.OC L PQ.

Tangents from an external point
(i) Tangents drawn to a circle from an external point are equal, i.e. PA = PB.
(if) The line joining the external point to the centre of the circle bisects the angle
between the tangents,
ie. ZAPO = /BPO and ZAOP = /BOP.

(AOAP = AOBP) o
, 4
I

B

youtube.com/c/Megalecture/
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7. Midpoint Theoremwyw}éugl@ g al ecture.com
In AABC, if D and E are the midpoints of the sides AB and AC respectively, then

DE // BC and DE = %BC.

JN
AL

8. Tangent-chord Theorem (Alternate Segment Theorem)
The angle between a tangent and a chord meeting the tangent at the point of contact
is equal to the inscribed angle on the opposite side of the chord,
ie. ZBAE = £LBCA and LCAD = LCBA.

youtube.com/c/Megalecture/
+92 336 7801123

118 UNIT 10




" Live Classes, Recorded Lectures, Notes & Past Papers Vic

www.megalecture.com
Example 1

The diagram shows a circle, centre O, with diameter AC and AB = AD. AC and BD
intersect at X.

(a) Prove that AABC and AADC are congruent.

(b) Prove that BD is perpendicular to AC.

B
A 0 X C
D
Solution
(a) AB=AD

AC is a common side for the two triangles. ~ (The hypotenuse of both
LABC = LADC =90° (rt. £ in a semicircle) triangles are the same.)
AABC is congruent to AADC (RHS congruence).

(b) Since AABC is congruent to AADC and they share the same base (AC),
BX =DX.
Since AC passes through the centre of the circle, AC L BD (L bisector of a
chord passes through the centre of the circle).

youtube.com/c/Megalecture/
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www.megalecture.com
Example 2

In the figure, BD and FE are tangents to the circle, centre O. BED is a tangent to

the circle at B and ACD is a straight line. ZCED = 90°.

A F

19 C

Z

B

Prove that
(i) 4ABC = LECD,
(ii) AABD is similar to ABCD.

Solution

(i) 4ECD = LACF (vert.opp. £s)
LACF = LABC (/s in alt. segments)
LABC = LECD

(ii) In AABD and ABCD,
£LBAD = £LCBD (/s in alt. segments)
£LABD =90° (Tangent L radius)
£LBCD = £BCA =90° (rt. £ in a semicircle)
i.e. LZABD = £BCD
AABD is similar to ABCD (AA Similarity Test).

0 TR youtube.com/c/Megalecture/
+92 336 7801123



" Live Classes, Recorded Lectures, Notes & Past Papers Vi

Differentiation and its
Applications

11

Formulae

1

d n n—
1. a(x)—nx

1

d n n—
2. a(ax)—anx

d
3. k=0
Addition/Subtraction Rules

4. Ify=u(x) +v(x), % = %[u(x)] + %[v(x)]

Example 1

. . 1 .
Differentiate 2x’ = 8x* + — =4 with respect to x.
X

Solution

d 3 , 1
dx(Zx —8x +x2 —4)

1
b % 2x - 8x*+x°—4) (Change — to x2)
X

=6x"— 16x-2x"

=6~ 16v— =
X

youtube.com/c/MegalLecture/
+92 336 7801123 .




" Live Classes, Recorded Lectures, Notes & Past Papers Vi
Chain Rule  Www.megalecture.com

i i b _dy du
5. Ifyis afunction of u, then T e P

6. %[(ax + b)"] =an(ax + b)"™'

7. In general, % [f0)]" = n[f(x)]" ™" x £'(x)

Example 2

Differentiate /5 — 4x” with respect to x.

Solution

4
1

(5 - 4x2)5

&=

_1
- %(5 - 4x2) 2(-8x)  (Chain Rule)

Product Rule

8. If y = uv, where u and v are functions of x, then b = uﬂ X vd—u

dx dx dx

youtube.com/c/Megalecture/
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Example 3

Differentiate 2x(3x° — 2)° with respect to x.

Solution
%[2x(3x3 - 2)3]

=2x(3)(3x* = 2)*(9x%) + 2(3x* = 2)*  (Product Rule and Chain Rule)
=203x"=2)’27x +3x’=2)  (Take out common factors.)

=23x" = 2)*(30x° - 2)

=4(3x° = 2)(15x' - 1)

Quotient Rule

9. Ify= % , where u and v are functions of x, then I =

Example 4

2

) . 3xT+4
Differentiate with respect to x.
J2x+5

Solution

dx|./2x+5

6x2x+5-(3x" + 4)@)(2x + 5)‘%(2)

= 555 (Quotient Rule)

6x(2x+35)—(3x*+4)
3

d 3x2+4}

(2x+5)?
9x* +30x—4

B Jx+5)

youtube.com/c/MegaLecture/
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Equations of T%Wzﬂ LORNcurve

10. Equation of a straight line: y — y, = m(x — x,)

y
A

¥ tangent

P normal

11. To find the equation of a tangent, we need:
Gradient of tangent, m = —

Coordinates of a point that lies on the tangent, (x,,y,)

12. To find the equation of a normal, we need:
dy
dy

dient of l=—1+ =%
Gradient of norma ir

Coordinates of a point that lies on the normal, (x,, y,)

Gradient of tangent =

youtube.com/c/Megalecture/
+92 336 7801123
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Example 5

A curve has the equation y = x* + 3x.
(i) Find the equation of the tangent to the curve at (1, 4).
(i) Find the equation of the normal to the curve at (1, 4).

Solution

(i) Sdtep 1: Find % .
ay _
o =2x+3

Step 2: Substitute x = 1 into % to find the gradient of the tangent.
dy _
o 2(1)+3

=5

Step 3: Find the equation of the tangent.
y—4=5x-1)
y—4=5x-5
y=5x-1
(ii) Step 1: Find the gradient of the normal.
1

Gradient of tangent
1

5
Step 2: Find the equation of the normal.

Gradient of normal = —

y-4=2z@-1)

Sy—=20==x+1
Sy=-x+21

youtube.com/c/MegaLecture/
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Example 6

The equation of a curve is y = % . Find
d
M 3
(ii) the equation of the tangent to the curve at x = 2,
(iii) the equation of the normal to the curve at x = 2.

Solution
. 5
W y=1-3
dy _ (1-3x)(0)-5(-3)
dx (1-3x)*
15
©(1-3x)?
(ii) Whenx=2,
y=-1

& _3
x5

.. Equation of tangent: y + 1 = % x=2)

_3,..u
=5 5

. 5

(iii) Gradient of normal = — = (m,m, =—1)

3

.. Equation of normal: y + 1 = - % x=2)

R
y=-343

youtube.com/c/Megalecture/
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13. If % is the rate of change of x with respect to time ¢ and y = f(x), then the rate of
dy dy dx

change of y with respect to 7 is given by d_)t) =i X T

14. A positive rate of change is an increase in the magnitude of the quantity involved
as the time increases.

15. A negative rate of change is a decrease in the magnitude of the quantity involved
as the time increases.

Example 7

Two variables, x and y, are related by the equation y = ﬁ . Find the rate of
X+

change of x at the instant when x = 1, given that y is changing at a rate of 3.5 units/s at
this instant.

Solution

X
T
dy _ Bx+7)D)-x(3)
dx  3x+7)
_3x+7—3x
T Bx+7)
T
© (Bx+7)
. dy _dy dx
Usmgd—)t)=ay><a,

7 dx
35= ———x—
(3+7)" dt

% =50 units/s
dt

youtube.com/c/MegaLecture/
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Example 8

A cube has sides of x cm. Its volume, V cm’, is expanding at a rate of 30 cm’/s.
Find the rate of change of x of the cube when the volume is 64 cm’.

Solution
V=yx
v .,
o 3x
When V=064, x=4.
When x =4,
dV _ 2
o 3(4)
=48
Given that d—V =30,
dr
v _dv de
dr ~ dx " dr
30 =48 x %
dx =0.625 cm/s
dr

youtube.com/c/Megalecture/
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LUNIT | Further Applications
of Differentiation

Increasing/Decreasing Functions

1.
Function in x y f(x)
. L dy ,

First derivative o f'(x)
d2

Second derivative ¢y £7(x)
dx2
d3

Third derivative ey £ (x)
de

2. Ifyis an increasing function (y increases as x increases), the gradient is positive,

ie. % > 0.
€.g. 1 "
/4 £ /y = 500
> —/ >
L » X
y y
A A

p

1 » X X

youtube.com/c/MegaLecture/
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www.megalecture.com
Example 1

Find the set of values of x for which f(x) = 2x” — 10x” + 14x + 5 is an increasing
function.

Solution

fx) =2 — 10x° + 14x + 5
f'(x) = 6x° = 20x + 14

When f'(x) > 0,

6x*=20x+14>0
3 - 10x+7>0

Bx-7Nx-1)>0

3. Ifyisadecreasing function (y decreases as x increases), the gradient is negative,

d
ie. ay <0.
y y
A A
\\yzf(x) \ y=gx)
\
> X > X
y
A A
y=kx)
— y=h(x)
l X X

youtube.com/c/Megalecture/
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www.megalecture.com
Example 2

—_

3

Find the set of values of x for which y = 3N ?

X"+ 6x is a decreasing function.

| W

Solution

1, 5,
3x—2x+6x
dy p)

ax =x"-5x+6

For y to be a decreasing function, % <0.
X=5x+6<0

x=-3)x-2)<O0

L 2<x<3

yo utu be .CO m/CiM eg aFITTeerCAtplﬁIhEg!ns of Differentiation 131
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Stationary PoirdAVW.megalecture.com
dy _

4. If a point (x,, y,) is a stationary point of the curve y = f(x), then prl 0 when
X = X,, i.e. the gradient of the tangent at x = x,, is zero.

5. Astationary point can be a maximum point, a minimum point or a point of inflexion.

Determining the Nature of Stationary Points

X X, x X X, x*
dy dy
dx >0 0 <0 d <0 0 >0
slope / - \ slope \ - /
stationary /_\ stationary
point point \_/
Point of inflexion Point of inflexion
X X x X X, X
dy dy
— > —= < <
i 0| 0 >0 ix 0| O 0
slope / - / slope \ - \
stationary J stationary \
point point
» youtube.com/c/Megalecture/
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First Derivative Test: Use o

Maximum point

Minimum point
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7. Second Derivative Test: Use —.
dx

d? . o . .
e If —f < 0, the stationary point is a maximum point.
dx
d2
e If —)2} > 0, the stationary point is a minimum point.
dx
d2
o IS = 0, the stationary point can be a maximum point, a minimum

2
point or a point of inflexion. Use the First Derivative Test to determine

the nature.

Problems on Maxima and Minima

8. Step 1: Find a relationship between the quantity to be maximised or minimised

and the variable(s) involved.

Step 2: If there is more than one variable involved, use substitution to reduce it to
one independent variable only.

Step 3: Find the first derivative of the expression obtained above.

Step 4: Equate the first derivative to zero to obtain the value(s) of the variable.

Step 5: Check the nature of the stationary point.

Step 6: Find the required maximum or minimum value of the quantity.

yo utu be .CO m/CiM eg aFITTeerCA]r:alﬁlllga?!ns of Differentiation 133
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Example 3

A curve has the equation y = 3(x + 1)°. Find the coordinates of the stationary point
and deduce the nature of the stationary point.

Solution

dy _

g =0G+D)
Let % =0,
6(x+1)=0

x=-1

When x=-1,y=0.

To find the nature of the stationary point, we perform the First Derivative Test.

—-1.1 -1 -09

dy
—= >
@ <0 0 0

stationary point v

(-1, 0) is a minimum point.

youtube.com/c/Megalecture/
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Example 4

It is given that y = g and that z = x* + 2y. Given that x is positive, find the
X

value of x and of y that makes z a stationary value and show that in this case, z
has a minimum value.

Solution

y=10
.x

z=x +2y —(2)

Substitute (1) into (2): (Express z in terms of one variable.)

2
z=x+—4
X

="+ 327

dz _
P =2x—128x
128

—ox— =2
xS

When % =0,

2 128
.X

128

5
X

x° =64
x=%+2

2x =

Given that x is positive,
x=2
y =1 " (Substitute x = 2 into (1) to obtain the value of y.)
2
% =2+ 640x° (Use the Second Derivative Test to show that z has a
640 minimum value.)

When x =2,

2
L

.. zhas a minimum value.

yOUIUDe Com/C/MegaLeerCA[plﬁlh(r:-a?!ms of Differentiation 135
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Example 5

_________.‘_________

X cm
The diagram shows a rectangle of length x cm and 2 semicircles each of radius r cm.
The perimeter of the figure is 400 cm and the area of the rectangle is A cm”.
(a) Show that A = 400r — 27,
(b) Find an expression for %
(¢) Calculate

(i) the value of r for which A is a maximum,

(ii) the maximum value of A.

Solution
(a) Given that the perimeter is 400 cm,
2x + 2mr = 400 (As Ajs expressed in terms of  only, we make use of
x =200=mr . the perimeter to obtain an equation involving x and r,
A =x(12r) before substituting it into A.)
=2r(200 — 7r)
= 4007 — 27" (proven)

dA
(b) - =400 4w

youtube.com/c/Megalecture/
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(¢) (@) When%w g

400 —4nr=0
100
yr=—
d’A ”
d—2 =—-4x <0 (Use the Second Derivative Test to check
r

that A 1s a maximum.)
s A 1s a maximum.

(ii) Whenr= % s

2
A= 400(@) - 2::(@)
7 7
_ 40000 20000
T n o=
20000
I
= 6370 (t0 3 s.£))

.. The maximum value of A is 6370 (to 3 s.f.).
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Example 6

A cylinder, which is made using a thin sheet of metal, has a volume of 500 cm’, radius

of x cm and height of 4 cm.

(a) Express A in terms of x and hence, express the total surface area, A cm’, in terms
of x.

(b) Find the value of x for which A will be a minimum.

h

Solution
(@ V=mx’h
wh = 500
_ 500
X’
A=2m + 2mx (ﬂg)
X
S 4 1000

(b) A =2mx*+ 1000x7"

A _ B
v 4tx — 1000x
1000

2
X

= 4qux —

To find the minimum value of A, % =0.

~ 1000

2
X

4mx =0

. 250
T om

,250
= 3J—
x TT

=430 (to 3 s.f)

X

youtube.com/c/Megalecture/
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Differentiation of Trigonometric,
Logarithmic & Exponential

Functions and their Applications

(not included for NA)

Differentiation of Trigonometric Functions

1.
2.

Ensure that your calculator is in the radian mode.

% (sin x)=cos x % (cos x)=-sinx

4 (tan x) = sec’ x 4 (sec x)=sec x tan x

dx dx

d (cot x) = —cosec” x 4 (cosec x) = cosec x cot x
dx dx

%[sin (Ax + B)] =Acos (Ax+ B)

%[cos (Ax + B)|=-A sin (Ax + B)

%[tan (Ax + B)| = A sec’ (Ax + B)

Example 1

Differentiate each of the following with respect to x.
(@) 3sin(2x+1) (b) (2x+ 1) cos 3x
(¢) x’tan 3x +2)

Solution
(@) o-[3sin (2x+1)] =312 cos 2x + 1))

=6cos (2x+ 1)
(b) % (2x + 1) cos 3x = (2x + 1)(3)(=sin 3x) + cos 3x (2) (Product Rule)

=-3(2x + 1) sin 3x + 2 cos 3x
(© %[f tan (3x + 2)] =x'(3) sec’ (3x+2) +tan (3x +2) (3x) (Product Rule)
=3x" [x sec® (3x + 2) + tan (3x + 2)]

Differentiatk}]lo UIU be : CO miC/M e%aLeC[u rei

ofTrigonomﬁi L itgﬂ' %Eé) n'§§un0tions and their Applications
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Example 2

Find the gradient of the curve y = x sin x at the point where x = 1.

Solution

y=xsinx
dy . . - L dy
" cosx+sinx (Gradient of curve refers to dx )
Whenx=1,

% =cos 1 +sinl (Radian mode)

=1.38 (to 3 s.f.)

.. Gradient of curve at x = 1 is 1.38

d n _ son—1
4. a[sm x] =nsin"”" xcosx
i[cos ] —ncos"” ' xsinx
dx
d n n—1 2
a[ta ] =ntan  xsec x
5. %[sm (Ax + B)] Ansin" "' (Ax + B) cos (Ax + B)
%[cos” (Ax + B)] =—An cos" "' (Ax + B) sin (Ax + B)
d [tan"(Ax + B)|=An tan""" (Ax + B) sec’ (Ax + B)
In general,

6. %[sin” f(x)] =nsin" "' f(x) x %[sin f(x)]
%[cos” f(x)] =ncos" ' f(x)x %[cos f(x)]

%[tan" f(x)] =ntan" "' f(x) x %[tan f(x)]

e . youtube.com/c/MegaLecture/
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Example 3

Differentiate each of the following with respect to x.
(a) cos® (1 —3x)

(b) 3 tan’ (2x—m)

(c) sin® (3x +2) cos x°

Solution

(a) %[cosz(l - 3x)] =2 cos (1 - 3x)[~(=3) sin (1 - 3x)]
=6 cos (1 —3x) sin (1 — 3x)

(b) %[3 tan® (2x — n)] = 3[(3) tan’ (2x — n)][(Z) sec? (2x — n)] (Chain Rule)

= 18 tan® (2x — ) sec’ (2x — )

(c) % [sin® (3x + 2) cos x°]

=(2) sin 3x + 2) (3) cos (3x + 2) (cos x*) + sin® (3x + 2) (2x) (—sin x°)
=6 sin (3x + 2) cos (3x + 2) cos x> — 2x sin” (3x + 2) sin x> (Product Rule and
Chain Rule)

Differentiation of Logarithmic Functions

7.

8.

9.

10.

d 1
D=5
d _a
alm @+ bl=20y
’ , d
In general, %[ln f(x)] - ff((;c)) , where f'(x) = a[f(x)] .

As far as possible, make use of the laws of logarithms to simplify logarithmic
expressions before finding the derivatives.

Diﬁerentiaﬂ%ou{u be : Com/CiM e aLeCtu rei
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Example 4

Differentiate each of the following with respect to x.

@ InGx+1) (b) In(2x" +5)
2x 8+4x

1 d

© n(3x2+4) @ 1n(3x—5)

(e) In[x (5x-2)] @ XIn@x-1)

Solution

d 3
(a) a[ln (3)C + 1)] = m

® L (2x2+5)3]=i[31n (22 +5)

a[ dx

=3 éix (Power Law of Logarithms)
2x°+5
_ 12x
2x°+5

d 2 d
(© a[ln(ﬁ)} = a[1n 2x—In(3x* + 4)]

2 6x
2x 3x*+4
1 6x

X 3x*+4

) %[m( At 4)‘)} ) i[ln (8+4x)—1In(3x-95)

3x-5 dx
-4 3
T 8+44x 3x-5
_ 13
“2+x 3x-5

youtube.com/c/Megalecture/
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(e) %ln[x(s)c —W Inx n(5x d

1 15x*
=+
X 5x -2

() %[f In (4x — 1)] _— (4x4_ 1) +3x’In(4x - 1)

3
X 2
4x_1+3x In(4x -1)

Example 5

Two variables, x and y, are related by the equation y = 3 nx7 .
X+
change of x at the instant when x = 1, given that y is changing at a rate of 0.18 units/s

at this instant.

Solution

_ Inx
T 3x+7

(Gx + 7)(315) 3y

dx Bx+7)
_3x+7-3xInx
x(3x+7)
dy _ dy dx
dr dx dr’
3(D0+7-31)Inl  dx
X_
13+ 7) dr

dy _

Using

0.18 =

TR 1.8 units/s

Diﬁerentiati(yOUIu be : Com/C/M e%al—ec{u re/
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Example 6

x and y are related by the equation y = h; 22x . Find the rate of change of y at the
X

instant when y = 0, given that x is changing at a rate of 2 units/s at this instant.

Solution

_In2x
T3
|
=3 In 2x
% = %(—2))6_3 In 2x + %x‘z (2%6) (Product Rule)
21In 2x 1
Y 3x°
_1-21In2x
B 3x°
Wheny =0,
In2x=0
2x =

0
_1
2
dy _dy de

dr “dx " dr’

1
dy 1—21n2(§)

E_TXZ
2

1 .
= 5§ units/s

X

Using

Differentiation of Exponential Functions
d . _ .
11. a(e)—e

12. %(em+h)=aeax+b

13. In general, % ™) = f'(x)e"™, where f'(x) = % [£(x)].

youtube.com/c/Megalecture/
+92 336 7801123
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Example 7

Differentiate each of the following with respect to x.

(a) e2 -3x (b) xZeébc
e3x esinx +1

(C) 2 + 1 (d) ecosx

Solution

(a) %(62—3,\'):_362—3)(

(b) % (*e™) = xX’(4e™) + 2xe™  (Product Rule)
=2xe™ 2x + 1)

© 4 [ e ]:(x2+1)(3)e3"—e3”(2x) (Quotient Rule)
dx (x*+1)
_ 32+ e’ — 2xe™
(x> +1)°
e’ [3(x2 +1)— 2x]

(x> +1)

X+l

@) d (esm + 1) e (cosxe ™) — (e +1)e“*(—sinx) (Quotient Rule)

dx ecosx (ecosx )2
N eCOS)C esmx COS_x + (esmx + l)eCOSX Sinx
- 2cosx
e™” [es"”‘ cosx + (e + 1)sinx]
= eZcosx
_ e cosx + (e™ + D)sinx

Ccos X

(&

o t‘Cyoutube.com/cil‘v‘le aLecture/
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Example 8

The equation of a curve is y = " cos x, where 0 < x < 7.
Find the x-coordinate of the stationary point of the curve.

Solution
y=¢"cosx
b =¢" (=sin x) + cos x (e")
o ¢ ¢ 0
=¢" (cos x — sin x)
dy _
When 5_0’
e (cosx—sinx)=0
€' = 0 (no solution) or cosx—sinx=0
cos x = sin x
tanx =1
X = E
T4
Example 9

1
Given that the equation of a curve is y =e? +

1 b
e?'
(i) find the coordinates of the stationary point on the curve,
(ii) determine the nature of the stationary point.

Solution
(i y=e5 + ?
e
1, 1,
=e? +4e?
1 1
%:%e2x+4(—%)e_x
lX lX
=%e2 —2e?

youtube.com/c/Megalecture/
+92 336 7801123
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When e =0,

1 1
=X —5X
e? —2e?2 =0

| —

.. Coordinates of stationary point are (In 4, 4)

C (%)(%)e - (D(—%)ei*

When x=1n4,
2
M—1>0

=

.. The stationary point is a minimum.

o t‘Cyoutube.com/cil‘v‘le aLecture/
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Integration
1. Ify=f(x), then fydx= ff(x) dx.

2. If % = g(x), then f g(x) dx =y + ¢, where c is an arbitrary constant.

Formulae and Rules
3. fk dx = kx + ¢, where k is a constant

n+l

4. fax"dx= ax + ¢, where n # -1
n+1l
o (ax+b)"*!
5. f(ax+b) dv= "+ ¢ where n |
6. f [0 = g00] dr = ff(x)dxi fg(x)dx

Example 1
Find
@ [sax, () [3x dr.
3 2 7
(© f(zx —3x+6)dx, (d) fx(3x +;)dx,

(e) f3(2x 50 dx.

youtube.com/c/MegaLecture/
+92 336 7801123
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Solution
(@) f5dx=5x+c
5 B 3x5+1
(b) f3xdx_ e
_ 1l
= 2x +cC
5 B 2x3+1_3x1+1
© f(zx—3x+6)dx_—3+1 S Hbre
=%x4—%x2+6x+c

(d) fx (3)62 + %) dx = f(3x3 +7)dx (Multiply x into the terms in the bracket

33! before doing the integration.)

T 3+41

+7x+c

= 4x +7x+c

3 2 _ 5 6+1
(e) f3(2x —5)°dx= % + ¢ (It ismot necessary to find the expansion
3 of 2x —5)%)
_ 2 &y
=1 2x=-5)"+c

Example 2

Find the equation of the curve which passes through the point (2, 10) and

ody L, 4
for which P =3x —x—z.
Selution
dy . 4
dx_3x_x_2

=3x" —4x”

y= f(3x2 —4x?) dx
=X +4x"+c

3 4
=X+ — +c
X

youtube.com/c/Megalecture/
+92 336 7801123
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10=2°+ % +c
c=0

. . 4
. Equation of the curve is y = x’ + <

Integration of Trigonometric Functions
7. fsinxdx:—cosx+c
8. fcosxdx:sinx+c

9. fseczxdx=tanx+c

1

10. sin(Ax+B)dx:—Z cos (Ax+B) +c¢

11. |cos (Ax+ B)dx= —sin (Ax+ B) +c¢

12. (sec’ (Ax+ B)dx= —tan (Ax+B) + ¢

youtube.com/c/Megalecture/
+92 336 7801123
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Example 3

Find
() fcos (5x +3) dx, (b) fs sin (3x— 1) dx,

© fz sec? (8 — 3x) dx.

Solution

(@) Jcos (Sx+3)dx= %Sin(5x+3)+c
—cos(3x-1)

(b) f3sin(3x—1)dx=3[ : p

=—cos(Bx-1)+c

(c) fZ sec’ (8 —3x) dx =2 %3_3)6) +c (Note that fZ sec” (8 — 3x) dx
2 A \ 2 sec’ (8 —3x) +¢)
= —Ftan (8 -3x) #¢ 9

13. Methods of Integrating Trigonometric Functions:
»  Use trigonometric identities e.g. 1 + tan” x = sec’ x
*  Use double angle formulae e.g. cos 2x =2 cos” x— 1 or cos 2x = 1 — 2 sin’ x

youtube.com/c/Megalecture/
+92 336 7801123
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Example 4

Find
(a) f4 tan® 3x dx, () [sinxcos x dx,

2 X
(c) f6 cos 5 dx.

Solution
(a) f4 tan® 3x dx = 4f(sec2 3x—1) dx

= 4[%tan3x—x]+c

:%tan3x—4x+c
1
(b) fsinxcosxdx:EIZSinxcosxdx
1.
=3 sin 2x dx
1[—cos2x]
+c

2 2

= —%cos 2x+c¢
(© f6 coszgdx=3f2 coszgdx

:3f(cosx+1)dx (cosAchoszg -1)

=3[sinx+x]+c
=3sinx+3x+c

youtube.com/c/Megalecture/
+92 336 7801123
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Example 5

Prove that (2 cos 6 — sin 0)* = % cos 260 —2sin260 + % .
Hence, find f(2 cos x — sin x)* dx.

Solution

LHS = (2 cos 0 — sin 6)°
=4 cos’ 0 +sin* O — 4 sin 6 cos O
-4 14 cos20 . 1-cos26
- 2 2

) —2(2sinf cosB)

=2+2cos 20+%—%cos 26 — 2sin 26

3 . 5
—Ecos26—2sm20+§

= RHS (shown)
oo (3 . 5
f(Z COS X — sin x) dx-f(i cos 2x — 2 sin 2x + E)dx

3. 2
5 sin X_(_20082x)+§x+c
2 F g

:%sin2x+c052x+%x+c

Integration.of o

14, [~ du=to+c

1 1
15. fax+bdx=zln|ax+b|+c

16. In general, f%dx =In|f(x)| + ¢

youtube.com/c/Megalecture/
+92 336 7801123
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Example 6
Find
5 4
@ [qsr & [z
4x° + 3x*
(© dx.
f 2x°
Solution
5 ~ 1
@ [rrse=fmse
_3 3 dx Manipulate th ression to obtai
= 3f3x+5 ( anipulate the expression to obtain

- %ln (Bx+5)+c one in the form e )

4 1
(b) f2—3xdx=4f2—3xdx
_4 .3
T 3J2-3x

=—%ln(2—3x)+c
4%+ 3x* 4x*  3x*
¢ dx = ||=—+—|dx
© [ f(2x3 sz)
2 3
=f(;+§x)dx

=2Inx+ %x2+c

youtube.com/c/Megalecture/
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Example 7

Express xiin artial fractions. Hence, find fidx
Press -2 P : . G+Dx—2) "

Solution

L 2x+ 4 A B

I Dx-2) x+l o2

By Cover-Up Rule,

_ 2 _8
A——gandB— 3
2x+4 _ 2 8
G+D(x=-2) 3x+D 3x-2)
2x+4 2 8
T =f[_3(x+l)+3(x—2) dx

2 8
= —gln(x+1)+§1n(x—2)+c

youtube.com/c/Megalecture/ 55
+92 336 7801123
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Example 8

x+15
Find [ =Sy &

Solution

x+15 _ A B

Lt a3 " x-2 %43

By Cover-up Rule,

17 12
A=Zand B=-=

x+15 _ 17 12
(x-2)(x+3)  5(x-2) 5(x+3)

x+15 ‘f[ 17 12
x=2(x+3)  ~J|5(x-2) 5(x+3)

- %ln(x - 2)—%111(“ o 4

Integration of e*

17. fexdx=ex+ c
18. fe““bdx=le“”b+c
a

youtube.com/c/Megalecture/
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Example 9

Find

@ [erd, ) [e= dr,
x 3x-1

© [6e3dx,

Solution
(a) fe” dx = %e” +c

(b) fezx+3dx=%62“3+c

X

X 665
3y =28
(© f6e dx = e
3
—18e +c
3x-1 4
@ JE = [[5 e
=f(lez - 26_)[)
2 -1
= *e .
K 2 -1
=L 2

youtube.com/c/Megalecture/
+92 336 7801123
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Definite Integrals

b
1. f f(x) dx =[F(x)] =F(b) - F(a)

2. faf(x)dx=0
b a
f f(x)dx=—f f(x)dx
a b
b b
f cf(x)dx:cf f(x)dx
c b c
f(x)dx= f(x)d f(x)d
fa (x)dx fa (x) x+fb (x)dx
b b b
ff(x)ig(x)dx:f f(x)dxif g(x)dx

w

b

bl

.°\

youtube.com/c/MegaLecture/
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Example 1

Evaluate

4
(a) (x -—+ 3) (b) f Sx—4 dx
1 1

Solution

(a) (x ——+3)dx f3(x2—10x-2+3)dx

_1 3
= §x3 +10x7"+ Sx]

1

- 3
-1 %+£+3]
3 1

[ 1
—_9+?+9]—[§+10+3]

4 4 1
(b) f 5x—4 dx =f (5x—4)2dx
1 1 )
3
_ (5x—4)?

3
o |

youtuoe C0m/ClIVIegaLeC'£l/:II‘(‘Elt R
pplications ot Integration
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Example 2

5
Given that f f(x) dx =10, find the value of each of the following.
1
1 5
@) f f(x)dx (ii) f 2f(x)dx
5 1
4 5
(iii) f [f(x) + 3&] dx + f f(x) dx
1 4

Solution
1

) f f(x) dx =10
5

5 5
(ii) f 2f(x)dx = 2f f(x)dx
1 1

=2(10)
=20

4 5 4 4 5
(iii) f [f(x)+ 3ﬁ]dx+ f f(x)dx = f f(x)dx +3 f Fdx 4 f f(x) dx
1 4 1 1 \ 4
5 2
:f f(x)dx + 3|2
1
1

3
2

w

=10+ Z[x%I

ER
=10+2[42—12}
=24

youtube.com/c/Megalecture/
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Example 3
2

Find d(ic(9 12 2) and hence find the value of fl © _122);2 7
Solution
d(_ 1 )_0O- 2x2)(0) - 1(—4x)
dx|9 - 2x? (9 -2x*)

. 2

(9-2x%)

2 2
f 127)‘22 dx = 3f L“ dx (Make use of the answerin the first part
1 (9-2x7) 1 (9-2x7) of the question.)

Example 4

Evaluate each of the following.

(a) f ® 3sin 3x dux (b) f * (sec® x + 2cos x) dux
0 0
Solution
% —Cos 3x
(a) f 3sin 3x dx = [ }
0
[cos Sx]

[cos 7T — COS O]

pU

youtuoe Com/ClIVIegaLeC'tl/:II‘(‘Elt R -
pplications ot Integration
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(b) * (sec? x +2cos x) dx = [tan x + 2sin x]#
0

T . T .
={tanz + ZSIHZ] - [tanO + 2sin O]

=1+2

Area bounded by the x-axis

7. For aregion above the x-axis:
Area bounded by the curve y = f(x), the lines x = @ and x = b and the x-axis is

b
f f(x)dx.

y = 1(x)

8. For aregion below the x-axis:
Area bounded by the curve y = f(x), the lines x = a and x = b and the x-axis is

b
f f(x)dx

'

y=1x)

youtube.com/c/Megalecture/
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Example 5

Find the area of the shaded region bounded by the curve y = 2x’, the x-axis and the

lines x =1 and x = 3.

»
-

Solution
3
Area of shaded region = f ydx
1

3
=f 2x%dx
1
_[e
=13 1

1
=3 13' =1

=40 units’

youtube.com/ciiv‘legaLecuAlr(‘e/f — -
pplications ot Integration
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Example 6

The figure shows part of the curve y = (x — 2)(x — 5). Find the area of the shaded
region.

y
A

10-\ /y x=2)(x-5)
2 5 >

5
f (x=2)(x-5)dx=
2

Solution

5
f (x*=7x+10)dx
2

3 2 S
X7 Tx
= |:? — ) G leL

[% - 7(3)2 + 10(5)} - [2—; - 7(3)2 + 10(2)”

=45 units*

For an area enclosed above and below the x-axis:
Area bounded by the curve y = f(x) and the x-axis as shown below is

b c
f f(x)dx+ f f(x)dx
a b

yA

y = f(x)

64

youtube.com/c/Megalecture/
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Example 7

The diagram shows part of the curve y = (x — 1)(x — 2).
Find the area bounded by the curve and the x-axis.

y
A

y=@-Dx-2)

Solution

1 2
Area of shaded region =f (x-D(x-2)dx+ f (x=1(x-2)dx
0 1

2
f (x* = 3x+2)dx
1

1
=f (x> =3x+2)dx+
0

1535 1 1s 3, T
—[3x —2x +2x]o+ [3x —2x +2x]1
|5 2 5

[§~9F-¢

=1 unit’

Area bounded by.the y-axis
10. For a region on the right side of the y-axis:
Area bounded by the curve x = f(y), the lines y = @ and y = b and the y-axis is

b
f f(y)dy. bR /
\ x=1(y)

b

a

o X

youtube.com/ciiv‘legaLecuAlr(‘e/f — "
pplications ot Integration
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Example 8

The figure shows part of the curve y = x’. Find the area of the shaded region.

27—

Solution
y=x
x=3y

3

=Y
27
Area of shaded region = f xdy

8

27 l
=f yidy
8

=2[81-16]

= 48.75 units’

youtube.com/c/Megalecture/
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Area bounded by the curve x = f(y), the lines y = a and y = b and the y-axis is

b
‘f f(y) dy
\ |
x=1(y)

=Y

youtube.com/cil‘v‘legaLecuAlr(‘e/f — -
pplications ot Integration
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Example 9

Calculate the area of the shaded region shown in the figure.

>

x=(y -4y

.,5)

\\

Solution
5
Area of (P + Q) =f (y—4) dy y
3 4 x=(y—4y
o-4 b s
= 3 P (1,5)
3
(.1 4
303
=2 inits? Q ........ 1,3
3
> X
(0]

Area of shaded region = Area of rectangle — Area of (P + Q)

-2 3

units’

3

o TS youtube.com/c/Megalecture/
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Example 10

The diagram shows the curve y = x* — 4. It cuts the line y = 5 at P(3, 5). The line x = 4
intersects the curve at R(4, 16). Find the area of the shaded region POR.

y
A
y=x'—4
R
P 0 y=5
0 "R
\
x=4

Solution
4
Area of POR = f [()c2 -4)- 5] dx

3

4
=f (x* =9)dx
1 ]“

=|=x"-9
o
44
o2

= 3% units’

youtube.com/ciiv‘legaLecuAlr(‘e/f —
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Kinematics

(not included for NA)

Relationship between Displacement, Velocity and
Acceleration

1. Differentiation:

as av_d’s
dt dr  df?
displacement, s velocity, v acceleration, a

Integration: s = f vdt V= f adt

Common Terms used in Kinematics

2. Displacement, s, is defined as the distance moved by a particle in a specific
direction.

3. Velocity, v, is defined as the rate of change of displacement with respect to
time. v can take on positive or negative values.

4. Acceleration, a,is defined as the rate of change of velocity with respect to time.
a can take on positive or negative values.
When a > 0, acceleration occurs.
When a < 0, deceleration occurs.

5. [Initial t 0
At rest v =
Stationary v =
Particle is at the fixed point s =
Maximum/minimum displacement v = 0
Maximum/minimum velocity a=0

youtube.com/c/MegaLecture/
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Total time taken

Average speed =

To find the distance travelled in the first n seconds:

Step 1: Let v =0 to find 7.

Step 2: Find s for each of the values of 7 found in step 1.

Step 3: Find s for t=0 and ¢ = n.

Step 4: Draw the path of the particle on a displacement-time graph.

Example 1

A particle moves in a straight line in such a way that, # seconds after passing
through a fixed point O, its displacement from O is s m. Given that s =2 — %,
find

(i) expressions, in terms of ¢, for the velocity and acceleration of the particle,
(ii) the value of  when the velocity of the particle is 025 m s,
(iii) the acceleration of the particle when it is I m from O.

Solution
. _ 4
@ s=2- t+2
V= b__4e (Apply the Chain Rule of Differentiation)
v 8
CdrT @ +2)
(ii) When v=0.25,
L S
(t+2)
(t+2)7=16
t+2==+4

t=2ort=-06 (rejected) (The negative value of 7 is rejected since
time cannot be negative.)

youtube.com/c/Megalecture/
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4 —
r+2
4 —
t+2
t+2=4

t=2

2 - 1

Substitute =2 into a = —% :
(t+2)
-8
(2+2)
1
-3 1
.. Acceleration of the particle when it is 1 m from O is \|n" s

Example 2

A particle moves in a straight line such that its displacement, s m from a fixed point
A, is given by s = 2¢ + 3 sin 2¢, where ¢ is the time in seconds after passing point A.
Find

(i) the initial position of the particle,

(ii) expressions for the velocity and acceleration of the particle in terms of 7,

(iii) the time at which the particle first comes to rest.

Solution

(i) s=2t+3sin2t
When ¢ =0, s =2(0) + 3 sin 2(0) = 0.
.. The particle is initially at point A.

(i) s=2t+3sin?2t¢

Lo ds
dr
=2+ 6cos 2t
_dv
“=ar
=—12 sin 2¢
7 UNIT 16 youtupbe.com/c/iviegaLecture/
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(iii) When v = 0, www.megalecture.com
2+6¢c0s2t=0

1
cos 2t——§

2t=191 (to 3 s.f)
t=0.955

Example 3

A stone that was initially at rest was thrown from the ground into the air, rising at a
velocity of v =40 — 10¢, where ¢ is the time taken in seconds.

(i) Find the maximum height reached by the stone.

(i) Find the values of r when the particle is 35 m above the ground.

Solution

G s =fv dr
= f(40 —10¢) dr

=40t-5F + ¢

Whent=0,5s=0 ..c=0
s =407 - 5¢

At maximum height,

v=0 (v =0 at maximum displacement.)
40-10t=0

t=4
When ¢ =4, s = 40(4) — 5(4)* = 80.

.. The maximum height reached by the stone is 80 m.

(ii) When s =35,
40t — 5 =35
5# —40t+35=0
£F-8t+7=0
(t—1)(t-7)=0
t=1 or t=7

.. The particle is 35 m above the ground when#=1and r=7.
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Example 4

A particle moves in a straight line so that, # seconds after passing through a fixed
point O, its velocity, v cm s™, is given by v = 8¢ — 37 + 3. The particle comes to
instantaneous rest at the point P. Find

(i) the value of 7 for which the particle is instantaneously at rest,

(ii) the acceleration of the particle at P,

(iii) the distance OP,

(iv) the total distance travelled in the time interval r =0 to t = 4.

Solution

(i) Whenv=0,
8—3f+3=0
3 -8r—3=0

@B+ 1)(x-3)=0
t=—%(rejected) or t=3
(i) v=8r-3~+3
a=8-6t
Whent=3,a=-10

. Acceleration of the particle at P is —10 cm s .

(iii) s=fvdt
=f(8t—3t2+3)dt

=47 - +3t+c

Whent=0,s=0 ..¢c=0
Ss=4r—F + 3¢
Whent=3,s=18

s OP=18 cm
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(iv) When 1= 0. s —0.WWW.megalecture.com
Whent=3,s=18.
Whent=4,s=12.

t=4
)t =3 (Draw the path of
=0 > the particle on a
: : : . displacement-time graph.)
0 12 18

.. Total distance travelled = 18 + (18 — 12)
=24 cm

Example 5

A particle moving in a straight line passes a fixed point O with a velocity of 4 m s
The acceleration of the particle, a m s, is given by a = 2¢ — 5, where ¢ is the time
after passing O. Find

(i) the values of r when the particle is instantaneously at rest,

(ii) the displacement of the particle when t = 2.

Solution

(i) v=fadt
=f(2t—5)dt

=Ff—5t+c

Whent=0,v=4 .. c=4
Lv=£-5t+4

When the particle is instantaneously at rest, v = 0.
£-5t+4=0
t-4Hr-1)=0
t=4 or =1
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(ii) s:fv dr

f(t2—5t+4)dt

13 52
=3t' -5t +41 +¢

Whenr=0,5=0 ..¢,=0

s L3,
3 2

Whent=2,

= Loy -2y
s= 32 =327 +4)
2

P44t

3

2
.. Displacement of the particle is 3m

Example 6

A particle starts at rest from a fixed point O and travels in a straight line so that,
t seconds after leaving point O on the line, its acceleration, a m s, is given by
a=2cos t—sin t. Find

(i) the value of r when the particle first comes to an instantaneous rest,

(i) the distance travelled by the particle in the first 3 seconds after leaving O.

Solution
(i) a=2cost—sint
\% =fa dz~ (Recall that when a particle is at instantaneous rest, v =0.)

=f(2c:ost—sint) dr

=2sint+cost+c
Whent=0,v=0 ..c=-1 (NotethatcosO=1.)
s.v=2sint+cost—1
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2sint+cost—1=0
2sint+cost=1 (R-formula is needed to solve this equation.)
J5 sin (7 +0.4636) = 1

sin (7 + 0.4636) = %

basic angle, a = 0.4636 (to 4 s.f.)

1 +0.4636 = 0.4636, 2.677
1=0,221 (to 3 s.f)

.. The particle first comes to an instantaneous rest when t = 2.21.

(ii) s:fvdt

:f(2sint+cost—1)dt

=sint—-2cost—t+d

Whent=0,5s=0 sd=2
sos=sint—2cost—t+2

Whent=0,s=0.
When t=2.214,s =1.785.
Whent=3,s=1.121.

Il
T T T
0 1.121 1.785

.. Total distance travelled = 1.785 + (1.785 — 1.121)
=245m (to 3 s.f.)
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1. ALGEBRA

Quadratic Equation
For the equation ax*+bx+c=0,

—b++b* —dac

2a

X =
Binomial expansion

7

n n n n-1 n n-232 n n-ryr n
(a+b) =a" + e e | Ja" B b

r!(n —r)! r!

n] n! n(n—1)...(n—r+1)

where # is a positive integer and [

2. TRIGONOMETRY

Identities

sin 4 +cos” 4 =1
sec’4=1+tan’ 4
cosec’d =1+ cot* 4
sin(4 £ B) =sin 4 cos B £ cos 4 sin B
cos(4 £ B)=cos A cos B ¥ sin 4 sin B

tan A+tan B

tan(4+B)=———
( ) 1Ftan 4 tan B

sin 24 = 2sin 4 cos A
cos24=cos’ A —sin? A=2cos’ A—1=1-2sin’ 4

2tan A

1-tan” 4

Formulae for AABC
a b c

sinA:sinB:sinC
a’ =b* +¢* —2bc cos A

A =lbc sin 4
2
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